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Distance & Direction Test

Four main Directions - North, South, East, West

W/ 4

Nné—— =
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L 4
Four Cardinal Direction - North-East, North-We @-East, South-West

N - W N N-E

5 -W
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o At the time a man stands facing the east, his shadow will be
towards
o At the i

e Ifa

nset, the shadow of an object is always in the east.
ds facing the North, at the time of sunrise his shadow will be
is left and at the time of sunset, it will be towards his right.
0 noon, the rays of the sun are vertically downward hence there
e no shadow.

°
T >

The above is the Directional Diagram. The direction sense consists of
four different types of problems. Let’s see the types of Direction
problems with solutions.

1. A man starting from his home walks 5 km towards East, and then he turns
left and goes 4 km. At last, he turns to his left and walks 5 km. Now Find the
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distance between the man and his home and also find at which direction he is
facing?

Sol.

b
House 5km 5 km S km

o e O

From the above diagram, we can find he is 4 km fror@woﬁse and facing the
West Direction.

o S km N
4 krn. 4 km, W
] O

2. A man starting from his home moves 4 k wakds East, then he turns right
and moves 3 km. Now, what will be the mi distance covered by him to
come back to his home?

Sol. \
0

e
N

*
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4 km. 4 k.
m . k;n
House 4 km.
>13 - N 3 km.

I [ 111

Minimum distance = JH]E + (3]3 : O

= |16+9 @’

e O

3. After Sunrise, Prakash while Qollege suddenly met with Lokesh at a
crossing point. Lokesh's Shadow w xactly to the right of Prakash. If they

were facing each othez(% ifection was Prakash facing?

Sol. Always Sun rises in st Direction. So Shadow falls towards West
M L 4

4. Prem started from his home and moved 5 km to reach the crossing point of

the palace. The road opposite to the direction Prem is heading goes to the

hospital. The road to the right of Prem goes to the station. If the road which

goes to a station is just opposite to the road of the IT-Park, in which direction is

Prem which leads to the IT- Park?
Sol.

il
in
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5 km. . o Skm. . | |,
Crossing Hospetal
House of Palace House l

From the above diagram, it shows that the road whin@s ?owards the IT-Park

is left of Prem.

¥
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Direction Sense

Instructions

For the following questions answer them individually

Question 1

A person walks 5m towards the east and walks 10m after taking a left and then he takes a right and walks

3m and then he takes a right and walks 20m and finally he takes a right and walks 3m. What is the direction
of the person with respect to his starting point ?

A south
southeast

B
C northeast
D east
Answer: B
L 2
Explanation:

O
&
NS

The directign 8 the'Person with respect to the starting point is south-east.
Questi

A person walks 5m towards the south and walks 5m after taking a left and then he takes a right and walks
5m and he again takes a left and walks 5m and finally, he takes a left and walks 10m. In which direction is
the person with respect to the starting position?

A north
B south

C west
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p east

Answer: D

Explanation:

10

5

The person is towards east with respect to the starting point. O

Question 3
A person started walking towards South. After walking some distanc turned left and walked for some
distance. Then he again turned right. After walking some distance, d left. Then in which direction is

he facing now?

A North

B West @
C South Q

D East
Answer: D *
Explanation: P
Ncurth
Starting pai
West= > East
South

Q
Ending point

From the above diagram, we can say that the person is facing towards East.
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Question 4

A person walked certain distance towards east. After walking some distance, he turned right and walked
some distance. He again turned towards right and after walking some distance, he turned left and walked
some distance. Then finally he turned right and after walking some distance, he stopped. In which direction,
he is facing now?

A South

B West

C East O
D North 0

Answer: B @ 'S

Explanation:
North
*
Starting point O
s}
C)< > West= > East
*
v
South
L 4
Ending po
From the e diagram, we can say that the person is facing towards West.
Question 5

A person travelled towards east and walked for 39m. Then he took left and after walking for 9m, he realised
that he misrouted and turned back and walked 80m. Then, which direction he is facing now?

A North
B South

C East
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p West

Answer: B

Explanation:

quth

39m am

i
- r

West= > East

th
80m

@
Starting point

| \
Ending Q

From the above figure, we can say thaj t ergbn is now facing South.
Question 6 *

A person started from his hgme a avelled certain distance. Then, he took towards his right and again
after travelling some distancg, heguriied left. Again, he turned towards his left and stopped after travelling
wards North now, then, in which direction he started from his home?

A North
B South
C East

D West

Answer: C

Explanation:
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From the above diagram, it is clear that he started travelling towards east from his home.

Question 7 0

Rahul started walking towards East and walked for 6 metres and sto t p@'nt A. He then took left and
walked for another 8 metres and stopped at point B. He then took ri alked for 15 metres and
stopped at point C. Further he took right again and walked for d finally stopped at point D.

Then, Point D is in which direction with respect to point A?

A North O
B South Q\
C North-West 0

D South-East 2 3
Answer: D
2
Explanation:
B 15 metres c
North
North-West R North-East
g
E
w wy
o
West
6 metres E B East
A~ pe]
S
S
=~ .
g
= e v
ol South-West South South-East
D

From the above diagram, Point D is in South-East of Point A.



10 www.jkchrome.com www.jkchrome.com www.jkchrome.com

Question 8

A person started walking from his home towards his office. He started towards his east and walked 9
metres. He then took right and walked for another 12 metres and reached his office. In which direction is he
facing now and what is the shortest distance between his home and his office?

A 15 metres, North
B 12 metres, South
C 14 metres, West

D 15 metres, South

Answer: D O
Explanation: Q

O metres *
Y
\

7
12 metres

W
\ ‘ QK
\
b 0 Sorlth

\

L 2
Shortest distance between gome an@ygffice = /92 + 122 = /81 + 144 = /225 = 15

L 4

Question 9
Nikhil was facing Ea Iked 6 km forward and then after turning to his right walked 2 km. Again he
turned to his righ alked 6 k. After this, he turned back. Which direction he was facing at that time ?
A Ea
B West
C North

D North-South
Answer: A

Explanation:
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6
Nikhil N
2 W 4’» E
s
6

Nikhil faces East finally after turning back.

Hence, option A is the correct answer.

Question 10

At dusk, Rohit started walking facing the west, After a while, he met his frie@ot turned to their left.
They halted for a while and started moving by turning again to their right. Fin hit waved ‘good bye’ to
his friend and took a left turn at a corner. At which direction is Rohit @; new ?

A South

B West O
C North &

D East OQ

Answer: A
L 2
Explanation:
As per the given question,
L 4
ith

Finally, Rohit is facing South.
Hence, option A is the correct answer.
Question 11

Raghu starts from his house in his car and travels 8 km towards the North, then 6 km towrads East ten 10
km towards his rigt, 4 km towards his left, 10 km toward north and finely 4 km towards his right. In which
direction is he now with reference to the starting point ?

A North
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B South-East
C South

D North-East

Answer: D

Question 12

Abhinav started running from his house, he first ran for 12 km towards west, then he turned towards north
and ran 16 km in that direction. How far Abhinav is from his house and in which direction?

A 13 km South O
B 13 km North 0
C 15km West

L 2
D 20 km North-West

Answer: D
Question 13 Q&
Vikram started from point R and walked@t km west, then turned left and walked 2 km and again

turned left and walked straight 4¢km.flin irection is he from R?

¢

A North-East
B South-West
C South-East

D North

Answer

Question 14

The mall is 250 meters north-west of the market. The school is 250 meters south-west of the market. In
which direction is the school from the mall ?

A West
B South

C North
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p East

Answer: B

Explanation:
The mall is 250 meters north-west of the market. The school is 250 meters south-west of the market.

Mall

Marlket

©

Thus, the school is South of the mall. .
=> Ans - (B) @

Question 15

Of the 5 town A, B, C, D and I: situated close to each othgki he West of B.C is to the south of A.E. is to
the north of B and D is to the east of E. Then Cisinw ction was respectto D ?

A South-West Q\
B North-West C)
C North-East *

D South-East

Answer: E

Instruc
Select the missing number from the given responses.

Question 16

-~J
\O

33(17
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A 60
B 65
C 68

D 55

Answer: B

Explanation:
Starting from 9 and moving clockwise direction, the pattern followed is :

(9x2)—1=17 O
(17x2)—1=33

(33x2)—1=65 Q

=> Ans - (B) @ *
Instructions

For the following questions answer them individually

Question 17

West walked 2 km and then turned West walke nd stopped. In which direction is Raheja from his
starting point ?

A East 0

B West

Raheja started from a point. He walked 3 km to thﬁ n turned East and walked 4km, then turned
k

C North *

D South

Answer: E

Questi

After walking 200 meters, | turned right and covered a distance of 100 mtrs, then turned left and covered a
distance of 300 mtrs. In the end | am facing towards North. From which direction did | start my journey ?

A East
B South
C North

D West
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Answer: C

Explanation:
D
300 m
B I00m C
200 m

O

A
Let | start from point A and head north for 200 m, then turned right towards ea reached C after walking
100 m. Finally turned left towards north and stopped at point D after @3@ m.

Thus, | started my journey in North direction.
Instructions &
Select the missing number from the glveC

Question 19

=>Ans - (C)

58 19

A 41
B 147
C 175

D 171
Answer: C
Explanation:

The pattern followed is that starting from top right and moving in clockwise direction, each number is
multiplied by 3 and then 1 is added.
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(6x3)+1=19
(19 x3)+1=58
(58 x3)+1=175
=>Ans - (C)

Instructions
For the following questions answer them individually

Question 20

Suresh walked 7 km east and turned to his left walked 4 kms. He then turned to his right a lked 5 kms.
Finally, he again turned to his right and walked 4 kms. In which direction is he now, fromi§ staRing point ?

A East O
B West Q

C North @ TS

D South
Answer: A
Question 21 O
Eight friends A, B, C, D, E, F, G and H are siigi round table in the same order at equal distances.

Their positions are in clockwise direction. If ho's sitting in the North exchange seat with C, and B

exchange seat with F. Now who is sittin@ ht of F?

¢
A G

B E V'S
Answer?

Question 22

A, B, C, D and E are sitting around a circular table. A don't have B and E as his neighbours. E, who is not
sitting with D is to the immediate left of B. When seen in clockwise direction, which of the order of sitting is
correct?

A ABDEC
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B ADBEC
C DBCEA

D BCEDA

Answer: B

Explanation:
A don't have B and E as his neighbours, => A is sitting between C and D

E, who is not sitting with D is to the immediate left of B.

=> C sits to the immediate left of E and B to the immediate left of D.

A o
@0

E B8
.". When seen in clockwise direction, correct sitting EC
=> Ans - (B)

Question 23

In the following question, Select the r@&m be placed at the sign of question mark (?) from the

iven alternatives.
g 'S

a0, D

20
120

A 1000

B 5760

C 4320

D 5040

Answer: D
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Explanation:
Starting from 1 and moving in clockwise direction, consecutive natural numbers are multiplied.

1x1=1
1x2=2
2x3=6

6 x4=24

24 x5 =120
120 X6 =720
720 X7 = 5040

=>Ans - (D)
Question 24
Suman walks 15 km towards north. She turns right and walks another 15 km@rns right and walks
another 15 km. In which direction is she from her starting point? @ N
A North
B South
C East @
D West Q
Answer: C C)

Explanation: ¢
\ 4
B 15 km C
15k 15 km
A D

Let Suman starts from point A and walks 15 km towards north to reach B. She then turns right and walks
another 15 km to reach C. From there, she turns right again and walks another 15 km southwards to finally
reach D.

.".She is 15 km to the east of her starting point.

=> Ans - (C)
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Question 25

In the following question, select the number which can be placed at the sign of question mark (?) from the
given alternatives.

c 17 @ *
Answer: B

Explanation: O

Starting from 2, and moving in clockwise directigg, t attern followed is :
2+3=5

5+4=9 0

9+5=14 *

14+6=20

20+7=27 *

=> Ans - (B)

Question 26

Suman walks 85 knTowards north. She turns right and walks another 15 km. She turns right and walks
anoth which direction is she from her starting point ?

A North
B South
C East

D West

Answer: C
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Explanation:
[ NOT ANSWERED ]

Question 27

Akash leaves from his school at 5:30 a.m. He starts walking towards south and covers a distance of 20 km.
He turns left and walks 15 km to reach point A. He turns right and walk 14 km. He again turns right and
walks 10 km. How far (in km) and in which direction is he now from point A?

A 3v43, South-West
B 3v43, South-East
C 2v74, South-West
D 2v74, South-East O
Answer: C
@ ‘

Question 28 O

From a hospital J, Pritam walked 49 metreg to solth, then after turning to right he walked 49 metres. He
again turned right and walked another 34 m&ges amyl finally turned to right and walked 49 metres. At what
distance (in metres) and in which direct@ om the hospital J now?

A 15, North A4

B 22v3, North
C 15, South

D 22V3,So

Answe

Question 29

Ganga leaves from her college at 10:00 a.m. She starts walking towards north and covers a distance of 14
km. She turns right and walks 20 km to reach point K. She turns left and walk 16 km. She again turns left
and walks 10 km. How far (in km) and in which direction is she now from point K?

A 3v33, North-West
B 2v89, North-West

C 3v33, North-East
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D 2v89, North-East

Answer: B

Question 30

In the following question, select the odd word from the given alternatives.

A West
B Direction

C South

D South-West O
Answer: B O

Explanation: ¢
West, South and South - West are all directions, hence Direction is th d ghe out.

©
>
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DIRECTION & DISTANCE TEST

TYPE-I )

1.

‘A’ man starts from a point and
walks 2km towards North, turns
towards his right and walks
2km, turns right again and
walks. What is the direction now
he is facing ?
(1) South

(3) North

(2) South-East
(4) West

(SSC Combined Graduate Level Prelim

2.

(SSC Combined Graduate Level Bpeli

3.

Exam.04.07.1999 (IInd Sitting)

Kamu walks 5 kms straight from
her house towards west then
turns right and walks 3 kms.
There-after she takes left turn
and walks 2 km. Further, she
turns left and walks 3 km. Fi-
nally, she turns right and walks
3 kms. In what direction she is
now from her house?

(1) West (2) North
(3) South (4) East

Exam.27.02.2000 (Ist Sit
Gopal started walking 2 k
straight from his school
turned right and

1 km to reac
house is
ich direction
ing from the

(2) West
(4) North
ombined Matric Level (PRE)
Exam. 21.05.2000 (Ist Sitting)
(East Zone)
A man starts from a point, walks
2 km towards north, turns to-
wards his right and walks 2 km,
turns right again and walks. What
is the direction now he is facing ?
(1) South (2) East
(3) North (4) West
(SSC CPO Sub-Inspector
Exam.12.01.2003)

. Mohan starts from poin

(s
im
7.@ ts from a point, walks
mil

. Janaki started from her house

and walked 2 kms towards North.
Then she took a right turn and
covered one kilometre. Then she
took again a right turn and walked
for 2 kms. In what direction is

she going ?
(1) North  (2) East
(3) South  (4) West

(SSC Combined Graduate Level
Prelim Exam.11.05.2003
(Ist Si

left and walks 1 km.
turns left again a

Now he is facin
(1) East

(3) North Sou est

Graduate Level
am.11.05.2003
(Ilnd Sitting)

towards south, turns

1
ight and walks 15 miles, turns

1
left and walks E miles and then

he turns back. What is the di-
rection he is facing now ?

(1) East (2) West

(3) South (4) North

(SSC CPO Sub-Inspector
Exam. 07.09.2003)

. A man starts from a point, walks

4 miles towards north and turns
left and walks 6 miles, turns right
and walks for 3 miles and again
turns right and walks 4 miles and
takes rest for 30 minutes. He
gets up and walks straight 2
miles in the same direction and
turns right and walks one mile.
What is the direction he is fac-
ing ?
(1) North (2) South
(3) South-east (4) West
(SSC Combined Graduate Level
Prelim Exam. 08.02.2004
(Ist Sitting)

10.

11.

12.

(2) South
West (4) North
(SSC Combined Graduate Level
Prelim Exam. 08.02.2004
(IInd Sitting)
A starts from a point and walks
5 kms north, then turns left and
walks 3 kms. Then again turns
left and walks 5 kms. Point out
the direction in which he is go-
ing now.
(1) North
(3) East

(2) South
(4) West
(SSC CPO Sub-Inspector
Exam. 05.09.2004)
A rat run 20' towards East and
turns to right runs 10', and turns
to right runs 9', and again turns
to left runs 5' and then turns to
left runs 12" and finally turns to
left and runs 6'. Now what direc-
tion is the rat facing ?
(1) EAST (2) NORTH
(3) WEST (4) SOUTH
(SSC CPO Sub-Inspector
Exam. 26.05.2005)
A Driver left his village and drove
North for 20 kms, after which he
stopped for breakfast. The he
turned left and drove another 30
kms, when he stopped for lunch.
After some rest, he again turned
left and drove 20 kms before
stopping for evening tea. Once
more he turned left and drove 30
kms to reach the town where he
had supper. After evening tea in
which direction did he drive ?
(1) West (2) East
(3) North (4) South
(SSC Combined Graduate Level
Prelim Exam. 13.11.2005
(Ist Sitting)
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13. A man is facing East, then he
turns left and goes 10 m, then
turns right and goes 5 m, then
goes 5 m to the South and from
there 5 m to West. In which di-
rection is he from his original

place?
(1) East (2) West
(3) North (4) South

(SSC Combined Graduate Level
Prelim Exam.13.11.2005
(Ilnd Sitting)
From her home Prerna wishes to
go to school. From home she goes
toward North and then turns left
and then turns right, and finally
she turns left and reaches school.
In which direction her school is
situated with respect to her
home ?
(1) North — East (2) North— West
(3) South - East (4) South — West
(SSC CPO Sub-Inspector
Exam. 03.09.2006)
A child walks 25 feet towards
North, turns right and walks 40
feet, turns right again and walks
45 feet. He then turns left and
walks 20 feet. He turns left again
walks 20 feet. Finally, he turns
to his left to walk another 20 feet.
In which direction is the chi
from his starting point ?

(1) North (2) South
(3) West (4) East

14.

15.

16.

and moves 20
moves 10 i

he turned to his
0 km, and again
to his left and moves
.Now in which direction
facing ?
(1) South-East (2) North-East
(3) South-West (4) North-West
(SSC CPO Sub-Inspector
Exam. 06.09.2009)
K is a place which is located 2
km away in the north-west direc-
tion from the capital P. R is an-
other place that is located 2 km
away in the south-west direction
from K. M is another place and
that is located 2 km away in the
north-west direction from R. T is

17.

yet another place that is located

www.jkchrome.com

| DIRECTION & DISTANCE TEST |

2 km away in the south-west di-
rection from M. In which direc-
tion is T located in relation to P ?
(1) South-west (2) North-west
(3) West (4) North
(SSC Combined Graduate Level
Tier-1 Exam.16.05.2010
(Ist Sitting)
Babu is Rahim’s neighbour and
his house is 200 metres away in
the north west direction. Joseph
is Rahim’s neighbour and his
house is located 200 metres away
in the south west direction. Gopal
is Joseph’s neighbour and he
stays 200 metres away in the
south east direction. Roy is
Gopal’s neighbour and his house
is located 200 metres away i
north east direction. The
is the position of Roy’s
relation to Babu’s ?
(1) South east (2)

18.

(IInd Sitting)

19. km. towards

d then turns to his right and

km. Afterwards he turns
is left and travels 6 km. In
ich direction is he from the
starting point ?

(1) North (2) East
(3) West (4) South
(SSC SAS Exam. 26.06.2010
(Paper-I)

20. A man started walking West. He
turned right, then right again and
finally turned left. Towards which
direction was he walking now?
(1) North (2) South
(3) West (4) East

(SSC Combined Graduate Level
Prelim Exam.19.06.2011
(Ist Sitting)

21. One evening, Raja started to
walk toward the Sun. After
walking a while, he turned to his

right and again to his right. After
walking a while, he again turned
right. In which direction is he

facing ?
(1) South (2) East
(3) West (4) North

(SSC Combined Graduate Level
Prelim Exam.19.06.2011
(Ilnd Sitting)

22. Five boys A, B, C, D, E are sit-
ting in a park in a circle. A is
facing South-West, D is facing
South-East, B and E are right
opposite A and D respectively and
C is equidistant bet

B. Which directio
(1) West

(3) North
(ssc @

uate Level
m. 26.06.2011
(Ist Sitting)

23. If ajlman o moped starts from
a point and rides 4 km South,
then eft and rides 2 km to

gain to the right to ride 4
ore, towards which direc-
n is he moving?
1) North (2) West
(3) East (4) South
(SSC Combined Graduate Level
Tier-1 Exam. 26.06.2011
(Ist Sitting and SSC Combined
Matric Level (Pre) Exam.
24.10.1999 (Ist Sitting)
A man starts from a point, walks
8 km towards North, turns right
and walks 12 km, turns left and
walks 7 km, turns and walks 24
km towards South, turns right
and walks 12 km. In which di-
rection is he from the starting

24.

point?
(1) North (2) South
(3) West (4) East

(SSC Combined Graduate Level
Tier-1 Exam. 26.06.2011
(Ilnd Sitting)
Daily in the morning the shadow
of Gol Gumbaz falls on Bara
Kaman and in the evening the
shadow of Bara Kaman falls on
Gol Gumbaz exactly. So in which
direction is Gol Gumbaz to Bara
Kaman ?
(1) Eastern side
(2) Western side
(3) Northern side
(4) Southernside
(SSC CPO (SI, ASIn& Intelligence Officer)
Exam. 28.08.2011 (Paper-1)
26. Ashok went 8 kms South and
turned West and walked 3 kms,
again he turned North and walked
5 kms. He took a final turn to
East and walked 3 kms. In which
direction was Ashok from the
starting point ?
(1) East (2) North
(3) West (4) South
(SSC Combined Matric Level (PRE)
Exam. 24.10.1999 (IInd Sitting)

25.
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27.

28.

29.

30.

31.

32.

If X stands on his head with his
face towards south, to which
direction will his left hand point?
(1) East (2) West
(3) North (4) South
(SSC Combined Matric Level (PRE)
Exam. 21.05.2000 (Ist Sitting)
(Raipur, Madhya Pradesh)
| drove East for 5 miles, then
drove North 3 miles, then turned
to my left and drove for 2 miles
and again turned to my left.
Which direction am | going now?
(1) South (2) North
(3) West (4) North-west
(SSC Combined Matric Level (PRE)
Exam. 21.05.2000 (Ist Sitting)
(Raipur, Madhya Pradesh)
If A stands on his head with his
face towards north, in which
direction will his left hand point?
(1) North-East (2) North
(3) East (4) North-West
(SSC Combined Matric Level (PRE)
Exam. 21.05.2000 (Ist Sitting)
(Middle Zone)
A car travelling from south cov-
ers a distance of 8 kms, then
turns right and runs another 9
kms and again turns to the right
and was stopped. Which direc-
tion does it face now?
(1) South (2) North
(3) West (4) East
(SSC Combined Matric Level (P
Exam. 21.05.2000 (Ist Sittin

is right and
other 10 km.

, but in which direc-
he be now ?

(2) North
(4) South-east

3
(SSC Combined Matric Level (PRE)
Exam. 21.05.2000 (IInd Sitting)
(Middle Zone, Allahabad)

A walks 3 kms northward and
then he turns left and goes 2 km.
He again turns left and goes 3
km. He turns right and walks
straight. In which direction is he
walking now?
(1) East (2) West
(3) North (4) South
(SSC Combined Matric Level (PRE)
Exam. 13.05.2001 (Ist Sitting)
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| DIRECTION & DISTANCE TEST |

33. ‘A’walks southwards, then turns
right, then left and then right. In
which direction is he from the
starting point?
(1) South (2) East
(3) West (4) North

(SSC Combined Matric Level (PRE)

Exam. 13.05.2001 (IInd Sitting)

A man starts from a point, walks
15 metres towards East, turns
left and walks 10 metres, turns
right again and walks. Towards
which direction is he now walk-

34.

ing ?
(1) North (2) East
(3) West (4) South

(SSC Combined Matric Level (PRE)
Exam. 05.05.2002 (Ist Si
(Eastern Zone, G

A boy starts walkin
West, he turns right
he turns right and At

at last. Toward @ i

is he walkin
(1) West (2
4) East

d Matric Level (PRE)
5.2002 (Ist Sitting)
astern Zone, Guwahati)
3 stand) with my right hand ex-
ide-ways towards South.
Towards which direction will my
ck be ?
(1) North (2) West
(3) East (4) South
(SSC Combined Matric Level (PRE)
Exam. 05.05.2002 (Ist Sitting)
(Eastern Zone, Guwahati)
If a person moves 4 km towards
west, then turns right and moves
3 km and then turns right and
moves 6 km, what is the direc-
tion in which he is now moving?
(1) East (2) West
(3) North (4) South
(SSC Combined Matric Level (PRE)
Exam. 05.05.2002 (lInd Sitting)
(Eastern Zone, Guwahati)
If Mohan sees the rising sun be-
hind the temple and the setting
sun behind the railway station
from his house, what is the di-
rection of the temple from the
railway station?
(1) South (2) North
(3) East (4) West
(SSC Combined Matric Level (PRE)
Exam. 05.05.2002 (lInd Sitting)
(Eastern Zone, Guwahati)

35.

37.

38.

39.

40.

41.

42.

43.

Laxman went 15 km to North
then he turned West and covered
10 kms. Then he turned South
and covered 5 kms. Finally turn-
ing to East he covere kms.

house?

(1) East

(3) North
(SSC Co

orth Zone, Delhi)
from a point, walks
4 mile rth, turns to his right
nd Iks 2 miles, again turns
his right and walks 2 miles,
ain turns to his right and walks
2 miles. In which direction would
he be now ?
(1) North (2) South
(3) East (4) West
SSC Combined Matric Level (Pre)
Exam. 05.05.2002 (IInd Sitting)
(North Zone Delhi)
| started walking down aroad in
the morning facing the Sun. Af-
ter walking for sometime | turned
to my left. Then | turned to my
right. In which direction was |
going then?
(1) East (2) West
(3) North (4) South
SSC Combined Matric Level (Pre)
Exam. 05.05.2002 (IInd Sitting)
(North Zone Delhi)
Lakshmi walked 2 furlongs
north from her house and took a
turn to left and continued to walk
another one kilometre and finally
she turned left and reached the
school. Which direction is she

A mah star

facing now?
(1) West (2) North
(3) East (4) South

SSC Combined Matric Level (Pre)
Exam. 12.05.2002 (Ist Sitting)
You are going straight, first
eastwards, then turn to the right,
then right again, then left. In
which direction would you be
going now?
(1) East (2) West
(3) South (4) North
SSC Combined Matric Level (Pre)
Exam. 12.05.2002 (Ist Sitting)



25 www.jkchrome.com

44.

45.

46.

47.

49.

If Ahmed travels towards North
from his house, then to left, then
to South covering equal distances
in each direction to reach Sohan’s
house, in which direction is
Ahmed's house now?
(1) East (2) South
(3) North (4) West

SSC Combined Matric Level (Pre)

Exam. 12.05.2002 (IInd Sitting)

You go North, turn right, then right
again and then go to the left. In
which direction are you now?
(1) South (2) East
(3) West (4) North

SSC Combined Matric Level (Pre)

Exam. 12.05.2002 (IInd Sitting)

Roopa starts from a point and
walks 15 metre towards west,
turns left and walks 12 metre,
turns right again and walks. What
is the direction she is now fac-

ing?
(1) South (2) West
(3) East (4) North

SSC Combined Matric Level (Pre)
Exam. 30.07.2006 (Ist Sitting)
(East Zone)
A man starts his journey facing
the sun early morning. He then
turns right and walks 2 km. He
then walks 3 km after turning
right again. Which is the direc-
tion he is facing now?
(1) North-East (2) North
(3) West (4) South
SSC Combined Matric Level (Pri
Exam. 30.07.2006 (lInd Sitting)

(4) North — East
SSC Data Entry Operator
Exam. 31.08.2008

Seeta starts from a point, walks
2 km towards north, turns
towards her right and walks 2
km, turns right again and walks.
What is the direction she is facing
now ?
(1) East (2) West
(3) South (4) North
SSC Stenographer (Grade'C & D)
Exam. 26.09.2010

50.

51.

52.

53.

54.

| DIRECTION & DISTANCE TEST |
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Shyam was facing East. He
walked 5 km forward and then
after turning to his right walked
3 km. Again he turned to his right
and walked 4 kms. After this he
turned back. Which direction was
he facing at that time ?
(1) East (2) West
(3) North (4) South
(SSC Higher Secondary Level
Data Entry Operator & LDC
Exam. 27.11.2010)
Raju is standing facing north. He
goes 30 metres ahead and turns
left and goes for 15 metres. Now
he turns right and goes for 50
metres and finally turns to his
right and walks. In which di
tion is he heading ?
(1) North
(3) South

from his house
owards north.

, then turns rightand
alks 2/km and then again turns
nd walks 2 km. Which di-
tion is he facing now ?
(1) North (2) South
(3) West (4) East
(SSC Higher Secondary Level
Data Entry Operator & LDC
Exam. 28.11.2010 (lInd sitting)
Raju is Ramu’s neighbour and he
stays 100 metres away towards
southeast. Venu is Raju’s
neighbour and he stays 100
metres away towards southwest.
Khader is Venu’s neighbour and
he stays 100 metres away to-
wards northwest. Then where is
the position of Khader's home in
relation to Ramu’s ?
(1) South-East (2) South-West
(3) North-West (4) North
(SSC Stenographer Grade 'C' & 'D'
Exam. 09.01.2011)
Ramesh walked 3 km. towards
West and turned to his left and
walked 2 km. He, then turned to
his right and walked 3 km. Fi-
nally, he turned to his right again
and walked another 2 km. In

57.

55.

58.

59.

which direction is Ramesh from
his starting point now ?

(1) East (2) West
(3) North (4) South
(SSC CISF Co e (GD)

wards and aft
turns to hegnig
some dis
left and

Kil en turns to her
le which direction is
she now ?

(1) Nor (2) West

3) Eést (4) South

SC Stenographer (Grade 'C' & 'D")
Exam. 16.10.2011)

. Raman starts walking in the

morning facing the Sun. After
sometime, he turned to the left.
Later again he turned to his left.
At what direction is Raman mov-

ing now ?
(1) East (2) West
(3) South (4) North

SSC (10+2) Level Data Entry
Operator & LDC Exam. 04.12.2011
(Ist Sitting (North Zone)
‘A’ starts walking towards North,
turns left, again turns left, turns
right, again turns right, once
again turns left. In which direc-
tion is ‘A’ walking now ?
(1) East (2) South
(3) West (4) South-East
SSC (10+2) Level Data Entry
Operator & LDC Exam. 04.12.2011
(llnd Sitting (North Zone)
X walks southwards and then
turns right, then left and then
right. In which direction is he
moving now?
(1) South (2) North
(3) West (4) South West
SSC (10+2) Level Data Entry
Operator & LDC Exam. 04.12.2011
(Ist Sitting (East Zone)
A man started to walk East. Af-
ter moving a distance he turned
to his right. After moving a dis-
tance he turned to his right again.
After moving a little he turned in
the end to his left. In which di-
rection was he going now ?
(1) North (2) South
(3) East (4) West
SSC (10+2) Level Data Entry
Operator & LDC Exam. 04.12.2011
(IInd Sitting (East Zone)



26 www.jkchrome.com

www.jkchrome.com

60. A taxidriver commenced his jour-
ney from a point and drove 10km
towards North and turned to his
left and drove another 5 km. Af-
ter waiting to meet one of his
friends, he turned to his right
and continuted to drive another
10 km. He has covered a dis-
tance of 25 km so far but in
which direction he now may be?
(1) North (2) East
(3) West (4) South
SSC (10+2) Level Data Entry
Operator & LDC Exam. 11.12.2011
(Ist Sitting (Delhi Zone)
Mohan starts from point A and
walks 1 km towards south, turns
left and walks 1 km. Then turns
left again and walks 1 km. Now
which direction he is facing ?
(1) East (2) West
(3) North (4) South-West
SSC (10+2) Level Data Entry
Operator & LDC Exam. 11.12.2011
(IInd Sitting (Delhi Zone)
| went 15 m to the north, then |
turned west and covered 10 m,
then | turned south and
covered 5 m and then turned
east and covered 10 m. In which
direction am | from the starting
point ?
(1) East (2) West *
(3) North (4) South
SSC (10+2) Level Data Entry
Operator & LDC Exam. 1
(Ist Sitti

Ravi in his eveni

61.

62.

63.

turned to 2 km.
He again t his right and
walke y, he turned

Iked another 2

(2) West

(3) North (4) South
SSC (10+2) Level Data Entry
Operator & LDC Exam. 11.12.2011
(IInd Sitting (East Zone)
64. A man starts for his office in the
North direction. He turns to his
left, and then to his right, and
again to his right. In which direc-

tion will he be facing ?

(1) South (2) West

(3) East (4) North
SSC Constable (GD) & Rifleman (GD)
Exam. 22.04.1912 (Ist Sitting)
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65. A man goes 5 km East, then he
turns right and goes 4 km, then
he turns left and goes 5 km.
Which direction is he facing now?
(1) North (2) South
(3) East (4) West

SSC Constable (GD) & Rifleman (GD)

Exam. 22.04.1912 (IInd Sitting)

66. A man walks 4km to the east

turns left walks 4km and turns

left and walks 4km. Which di-
rection is he facing?

(1) South (2) East
(3) West (4) North
67. Khan travels 8 km from East to

West and turns right to travel 2
km. Now he turns right and trav-
els 5 km. In which directi
he now positioned wit
ence to the starting poi

(3) West
(SSC Level Data
LDC Exam. Sitting)
68. A boy wal orthwards. After a
ile rnsitowards his right

er to his left.
Iking a distance
metre, he turns to his
in. In which direction he
ng now ?
orth (2) South
East (4) West
(SSC Graduate Level Tier-I
Exam. 11.11.2012 (Ist Sitting)
. Kiran moved a distance of 50
metres towards the North. He
then turned to the left and
walked 25 metres, turned left
again and walked 40 metres. Fi-
nally he turned to the right. In
which direction is he moving now?
(1) West (2) East
(3) South (4) North
(FCI Assistant Grade-II
Exam. 22.01.2012 Paper-I)
A man starts from his house and
walked straight for 10 metres
towards North and turned left
and walked 25 metres. He then
turned right and walked 5 me-
tres and again turned right and
walked 25 metres. Which direc-
tion is he facing now ?
(1) North (2) East
(3) South (4) West
FCI Assistant Grade-I1l
Exam. 25.02.2012 (Paper-1)
North Zone (Ist Sitting)

ne
left a
m

1

70.

71. If Ram's house is located to the
south of Krishna's house and
Govinda's house is to the east of
Krishna's house, in what direc-
tion is Ram’s house si
respect to Govinda'
(1) North-East

(3) South-East

72.

Ra
fro

ika

t 50 metres south
se then turned left
and went 20 metres then turn-

g, Onorth she went 30 metres.
which direction is her home
om this point ?
(1) North (2) South-West
(3) East (4) North-West
FCI Assistant Grade-I1l
Exam. 05.02.2012 (Paper-1)
East Zone (IInd Sitting)
‘X'"is in the East of 'Y’ which is in
the North of ‘Z'. If ‘P’ is the East
of ‘Z’ then in which direction of

73.

X', is ‘P’ :
(1) South-West (2) South-East
(3) South (4) West

FCI Assistant Grade-I1l
Exam. 05.02.2012 (Paper-1)
East Zone (IInd Sitting)
Raghu starts from his house in
his car and travels 8 km towards
the North, then 6 km towards
East then 10 km towards his
right, 4 km towards his left, 10
km towards North and finally 4
km towards his right. In which
direction is he now with refer-
ence to the starting point ?
(1) South (2) North East
(3) SouthEast (4) North
(SSC (10+2) Level Data Entry
Operator & LDC Exam.
04.11.2012, Ist Sitting)
Mani starts from college and
walks 3 kms towards East, turns
right and walks 2 kms, turns
right again and walks. What is
the direction he is now facing?
(1) South (2) North
(3) West (4) East
(SSC Multi-Tasking Staff
Exam. 17.03.2013, Ist Sitting)

74.

75.
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76.

77.

78.

80.

A direction pole was situated on
the Road Crossing. Due to an
accident, the pole turned in such
amanner that the pointer which
was showing East, started show-
ing South. Sita, a traveller went
to the wrong direction thinking
it to be West. In what direction
actually she was travelling ?
(1) East (2) South
(3) North (4) West
(SSC Graduate Level Tier-I
Exam. 21.04.2013, Ist Sitting)
Y is in the East of X which is in
the North of Z. If P is in the South
of Z, then in which direction of
YisP?
(1) North (2) East
(3) South-East (4) South-West
(SSC Graduate Level Tier-I
Exam. 21.04.2013, lind Sitting)
Kate walks 4 km towards South.
She then turns towards her left
and walks 8 km more. After that
she turns left again and walks
another 8 km. Here, she meets
her friend coming from the op-
posite direction and they both
stop here. Which direction would
she be facing ?

(1) North
(3) East

(2) South
(4) West
(SSC Graduate Level Ti

aleft turn at
ich direction is

(2) West
(4) East
(SSC Constable (GD)
Exam. 12.05.2013 Ist Sitting)
Ram walks 10 m South from his
house, turns left and walks 25
m, again turns left and walks 40
m, then turns right and walks 5
m to reach the school. In which
direction is the school from his
house ?
(1) North (2) South-West
(3) North-East (4) East
(SSC Graduate Level Tier-I
Exam. 19.05.2013, Ist Sitting)

81.

82.

84.

| DIRECTION & DISTANCE TEST |

. Raj is standing in the middle of a
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A boy was misdirected from his
way while returning to his home
from his school. In order to reach
his home, he first moved 3 km
in south direction and then
turned to his left and moved 2
km in straight direction on the
road leading to the east. From
there, he moved to his left and
walked 3 km. After this. he again
turned to his left and moved 1
km. Finally he reached his home.
The home of the boy was in which
direction from his school ?
(1) South (2) West
(3) North (4) East
(SSC Graduate Level Tier-I
Exam. 19.05.2013, Ist Sitti
Rani and Sarita started fri
place X. Rani went West
ita went North, both
with the same speed

and South
(SSC Graduate Level Tier-I
Exam. 19.05.2013, lind Sitting)

square field. He starts walking
diagonally to North-East. Then he
turns right and reaches the far
end of the field. Then he turns
right and starts walking. In the
midway he again turns right and
starts walking. In halfway, he
turns to his left and reaches a
new far end. In what direction is

Raj now ?
(1) South-West (2) North
(3) South (4) North-West

(SSC Graduate Level Tier-I
Exam. 19.05.2013, Ist Sitting)

After walking 10 m, Shankar
turned left and covered a distance
of 6 m, then turned right and
covered a distance of 20 m. In
the end, he was moving towards
the south. From which direction
did Shankar start his journey ?
(1) West (2) North
(3) South (4) East

(SSC CAPFs Sl & CISF ASI

85.

86.

Exam. 23.06.2013)

87.

88.

89.

90.

Sumi ran a distance of 40m to-
wards the South. She then turned
to the right and ran for about
15m, turned right again and ran
50m. Turning to right then ran
for 15m. Finally she t
left an angle of 452
which direction
finally ?

(1) South-
(3) North-,

(
Exam. 23.06.2013)
Tina 5 kms towards East,
turns and drives 65 kms,
her‘urns left and drives 33
s. In which direction is she
ing now ?
1) East (2) North
(3) West (4) South
(SSC Multi-Tasking (Non-Tech.)
Staff Exam. 16.02.2014)
A man walks 6 kms South, turns
left and walks 4 kms, again turns
left and walks 5 kms. Which
direction is he facing now ?
(1) South (2) North
(3) East (4) West
(SSC Multi-Tasking Staff
(Patna) Exam. 16.02.2014)
One morning, Rita started to
walk toward the sun. After walk-
ing a while, she turned to her
left and again to her left. After
walking a while, she again turned
right. Which direction is she fac-
ing now ?
(1) East (2) West
(3) North (4) South
(SSC Multi-Tasking (Non-Tech.) Staff
Exam. 23.02.2014, IInd Sitting)
One morning after sunrise, Gan-
gadhar was walking facing a pole.
The shadow of the pole fell ex-
actly to his right, which direction
was he facing ?
(1) South
(3) North

ive

(2) West

(4) East

(SSC CGL Tier-I
Re-Exam-2013, 27.04.2014)

Sharada started to move in the

direction of south. After moving

15 metres, she turned to her left

- twice and moved 15 metres

each time. Now how far is she

and in which direction from her

starting point ?

(1)15 m. East (2) 15 m. South

(3)30 m. East (4) 20 m. West

(SSC CGL Tier-I
Re-Exam-2013, 27.04.2014)
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9l1.

92.

93.

94.

95.

A person walks towards his
house at 8 : 00 am and observed
his shadow to his right. In which

direction he is walking ?

(1) North (2) South
(3) East (4) West
(SSC CAPFs SI, CISF ASI & Delhi
Police SI Exam. 22.06.2014)
Govind starts from his house to-
wards West. After walking a dis-
tance of 25 metres he turned to-
wards right and walked 10 me-
tres. He then turned left and
moving a distance of 10 metres,
turned to his left again and walked
40 metres. He now turns to the
left and walks 5 metres. Finally
he turns to his left. In which di-
rection is he walking now ?
(1) North (2) South
(3) East (4) West
(SSC CGL Tier-I Re-Exam. (2013)
20.07.2014, Ist Sitting)
| am facing East. Turning to the
right I go 20 metres, then turn-
ing to the left | go 20 metres and
turning to the right | go 20 me-
tres, then after turning to the
right | go 40 metres and then |
go 40 metres to the right. In
which direction am | from my orig-
inal position ?
(1) North (2) West VS
(3) South (4) East
(SSC CGL Tier-1 Re-Exam. (20
20.07.2014, IInd Sitting)
Anand travels 10 kms

the south to
shop, after sch

(SSC GL Tier-1 Exam.
19.10.2014, Ist Sitting)
Four players P, Q, R and S are
standing in a play field in such a
way that Q is to East of P, Ris to
the South of P and S is to the
North of P. In which direction of
Q is S standing ?
(1) North (2) South

(3) North-West (4) South-East

(SSC CGL Tier-1 Exam. 19.10.2014
TF No. 022 MH 3)
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| DIRECTION & DISTANCE TEST }
96. A man drives his car 6 km to-
wards West, then turns left and
drives 3 km and again turns left
and drives 3 km. Find out the
final direction of the man from
his original position.
(1) South-West (2) North-West
(3) North-East (4) South-East
(SSC CHSL (10+2) DEO & LDC
Exam. 16.11.2014 , Ist Sitting
TF No. 333 L0 2)

A tourist drives 10 km towards
West and turns to left and takes
a drive of another 4 km. He then
drives towards East another 4
km and then turns to his right
and drives 5 km. Afterwards he
turnsto his leftand travels 6
In which direction is he fro
starting point ?

97.

(1) North 2 E
(3) West @
(SSC CHSL (
Exam. 1 Sitting
3L02)
98. Going 40 m'e, the south of his
h urns left and
go . Then turning

e goes 20 m and
walking to his house.
irection is he walking

ens
n whi

1) North-West (2) North-East
South-East (4) South-West
(SSC CHSL (10+2) DEO & LDC
Exam. 16.11.2014, IInd Sitting
TF No. 545 QP 6)
. Ramesh walks 2 km to west and
turns to his right and walks 3 km
and turns right and walks 2 km
and finally turns to his right.
Which direction is he facing ?
(1) East (2) West
(3) North (4) South
(SSC CHSL (10+2) DEO & LDC
Exam. 16.11.2014, IInd Sitting
TF No. 545 QP 6)

Keeping her back towards the

rising sun, Reshma starts walk-

ing. After a few minutes she turns

left and keeps on walking. Then

a little later she turns right and

then left. In which direction is she

going at the moment ?

(1) South or West

(2) Eastor South

(3) West or North

(4) North or South

(SSC CAPFs SI, CISF ASI & Delhi

Police SI Exam, 21.06.2015
(Ist Sitting) TF No. 8037731)

100.

101. Raghu starts from his house in
his car and travels 8 km towards
the North, then 6 km towards
East then 10 km towards his
right, 4 km towards hi
km towards North
km towards his

direction is he refer-
ence to the

(1) North South-East
3) ) North-East

(SSC Constable (GD)
.10.2015, lInd Sitting)
A watch reads 4 : 30. If the
inute hand points Eastin which
ection will the hour hand point?
1) South (2) North-East
(3) North (4) South-West
(SSC (10+2) LDC/DEO/PA/SA
Exam. 01.11.2015 TF No. 1098066)
Raghu jogged 2 km south wards,
then he turned right and walked
5 km. He again turned right and
walked and jogged 8 km. In
which direction was he seen
moving last?
(1) West (2) East
(3) South (4) North
(SSC (10+2) LDC/DEO/PA/SA
Exam. 01.11.2015 TF No. 1098066)
Sitarawalked 45 metres in North-
West from her uncle’s house.
There she met her friend and they
walked 45 metres in South-West
direction. Then they walked 45
metres in South-East direction
and turned to uncle’s house. Now
in which direction they are go-
ing ?
(1) North-West (2) South-West
(3) North-East (4) South-East
(SSC CHSL (10+2) LDC, DEO
& PA/SA Exam, 15.11.2015
(Ist Sitting) TF No. 6636838)
The mall is 250 metres North-—
West of the market. The school
is 250 metres south-west of the
market. In which direction is the
school from the mall?
(1) East (2) West
(3) South (4) North
(SSC CHSL (10+2) LDC, DEO
& PA/SA Exam, 15.11.2015
(IInd Sitting) TF No. 7203752)

103.

104.

105.
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106.

107.

108.

109.

110.

Raheja started from a point. He
walked 3km to the North, then
turned East and walked 4km,
then turned West walked 2km
and then turned West walked
3km and stopped. In which direc-
tion is Raheja from his starting
point ?
(1) East (2) South
(3) North (4) West
(SSC CHSL (10+2) LDC, DEO
& PA/SA Exam, 06.12.2015
(Ist Sitting) TF No. 1375232)

After walking 200 metres, |
turned right and covered a dis-
tance of 100 metres, then turned
left and covered a distance of 300
metres. In the end | am facing
towards North. From which di-
rection did | start my journey ?
(1) West (2) East
(3) North (4) South
(SSC CHSL (10+2) LDC, DEO
& PA/SA Exam, 06.12.2015
(Ist Sitting) TF No. 1375232)
Of the 5 towns A,B,C,D and E
situated close to each other. A is
to the west of B, C is to the south
of A,E is to the north of B and D
is to the east of E. Then C is in
which direction with respect to
D?
(1) South-West (2) North-Ea
(3) North-West (4) South—@s
(SSC CHSL (10+2) LDC,
& PA/SA Exam, 06.12.2
(llnd Sitting) TF No. 3441135
Suresh walked 7 km
turned to his left
He then turned to

(4) North

CHSL (10+2) LDC, DEO
SA Exam, 20.12.2015
(Ist Sitting) TF No. 9692918)
Raj tarted from his house and
went 2 km east, then he turned
rightand went 3 km, again turned
right and went 3 km, again he
turned right and covered 1 km
and finally after turning right and
going 1 km he reached point ‘K’.
In which direction was Rajan

walking when he reached?
(1) West (2) East
(3) South (4) North

(SSC (10+2) Stenographer Grade
‘C' & ‘D’ Exam. 31.01.2016

TF No. 3513283)

111.

112.

114.
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A girl leaves from her home. She
first walks 30 m in North-West
direction and then 30 m in South—
West direction. Next, she walks 30
m in South-East direction. Finally,
she turns towards her house. In
which direction is she moving ?
(1) North-West
(2) South-East
(3) South-West
(4) North-East
(SSC (10+2) Stenographer Grade ‘C’
& ‘D’ Exam. 31.07.2016)
Johnson left for his office in his
car. He drove 15km towards North
and then 10km towards West. He
then turned to the South and
covered 5km. Further he turned
to East and moved 8km. Fi
he turned right and move
How far and in which di
he from his starting poi
(1) 2 km, West
(2) 5 km, East

(3) 3 km,

am.10.09.2016)
exam, Sudhir

harp Jleft turn, he travelled for
0 km. He again made a
arp left turn and reached in
nt of the school by travelling 5
km more. Which direction is
Sudhir’s starting point from the
school?
(1) East
(3) North

(2) West
(4) South
(SSC CGL Tier-I (CBE)
Exam. 09.09.2016) (Ist Sitting)
Mr. A travelled from a point ‘X’
straight towards east at a distance
of 80 m. He turned to his right
and walked 40 m. He again
turned to his right and walked
80 m. He then turned his leftand
walked 20 m and took left and
again walked 80m. Now he
turned towards his left and
walked 60 m and stopped. How
far and in which direction is he
from the starting point ‘X'?
(1) 80 m towards North
(2) 60 m towards East
(3) 80 m towards West
(4) 80 m towards East
(SSC CAPFs (CPO) SI & ASI,
Delhi Police Exam. 05.06.2016)
(Ist Sitting)

www.jkchrome.com

115.

117

118

Rahul travels 10 km towards
East, then he takes left turn and
travels 3 km. He then takes right
turn and travels 5 km, he again
takes right turn and tr.

(€] km ards South-East
CAPFs (CPO) SI & ASI,
De olice Exam. 05.06.2016)

(Ist Sitting)
alu walks 30 m north, then she
rns right and walks 30 m then
she turns right and walks 55 m.
Then she turns left and walks 20
m. Then she again turns left and
walks 25m. How many metres
away and in which direction is

she from her original position ?
(1) 20 m, South
(2) 10 m, North
(3) 30 m, North

(4) 50 m East

(SSC CPO SI & ASlI, Online
Exam. 06.06.2016) (IInd Sitting)

. A girl walks 100 m straight from

her home, to go to the market
during her morning walk. Then
she turns left for 60 m, then 85
m turning her right and then again
turns right for 60 m, she can see
her shadow now. Therefore, in
which direction is the entry gate
of her house facing and what is
the shortest distance from her
current location to ther home ?

(1) South, 185 metre
(2) North, 185 metre
(3) East, 160 metre

(4) North, 160 metre

(SSC CPO SI & ASlI, Online
Exam. 06.06.2016) (IInd Sitting)

. Shama, during the time of sunset,

started walking towards the
opposite side of sun and then she
turns right and right again. What
direction is she facing?
(1) South (2) West
(3) East (4) North
(SSC CGL Tier-I (CBE)
Exam. 27.08.2016) (IInd Sitting)
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119. P started walking from North to
South. She turned right at right
angle and then again right at right
angle. In which direction was she

ultimately walking ?

(1) North (2) East
(3) South (4) West
(SSC CGL Tier-I (CBE)
Exam. 28.08.2016) (IInd Sitting)
A man walks 7 km towards south
and turns to the left. After
walking 5 km, he turns to the
right and walks 7 km. In which
direction is he now from the
starting point ?
(1) West (2) South
(3) South-East (4) North-East
(SSC CGL Tier-I (CBE)
Exam. 29.08.2016) (IInd Sitting)
Ramesh starts his journey by
walking 2 kilometres towards
North. Then he takes a right turn
and walks 1 kilometre. Again
takes a right turn and walks 2
kilometre. Now which direction is

120.

121.

he facing ?
(1) East (2) West
(3) South (4) North

(SSC CGL Tier-I (CBE)
Exam. 01.09.2016) (Ist Sitting)
One morning, Raju wal
towards the sun. After someyti
he turned left and again to ki
left. Which direction is he facin
(1) North
(3) East

122.

123.

rnsieft again and
irection is he

(2) West

(4) East
(SSC CGL Tier-I (CBE)

Exam. 02.09.2016) (IInd Sitting)
Ashok went 8 kms south and
turned west and walked 3 kms.
Again he turned north and walked
5 kms. He took a final turn to
east and walked 3 kms. In which
direction was Ashok from the
starting point?
(1) East
(3) West

124.

(2) North
(4) South

(SSC CGL Tier-1 (CBE)
Exam. 03.09.2016) (IInd Sitting)
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125. Rita travelled 35 km from a point
towards South and then turned
left and travelled 20 km and finally
turned left again and travelled 35
km. In which direction is she
from the starting point?
(1) East (2) West
(3) North (4) South
(SSC CGL Tier-I (CBE)
Exam. 04.09.2016) (Ist Sitting)
Anitha walked 20 km towards
north. Then she turned right and
walked 30km. Then she turned
right and travelled 35 km. Then
she moved left and walked 15 km.
Finally she turned left and walked
15 km. In which direction was
she from the starting point?
(1) South (2) North
(3) East

126.

(SSC CGL
Exam. 06.09.2016)

127. Amanwalks 5 ki

South and then t .
After walki re, he
turns to t eft and walks 5
Kilom which direction

starting point?
(2) South
(4) South-West
(SSC CGL Tier-I (CBE)
am. 07.09.2016) (Ist Sitting)
ahul starts and walks towards
e south, he then turns to his
right and walks 5 kms, then
again turns left and walks 3 kms
and then again turns left and
walks 5 kms. In which direction
is he from the starting point?
(1) North (2) South
(3) East (4) West
(SSC CGL Tier-I (CBE)

Exam. 30.08.2016) (IInd Sitting)
A person started walking towards
West and covered a distance of
15m, he turned right and walked
10m. Again he turned right and
walked 5m and in the end he
turned left and walked 15m.
Which direction is this person

129.

facing now?
(1) North (2) South
(3) East (4) West

(SSC CGL Tier-I (CBE)

Exam. 31.08.2016) (IInd Sitting)

P, Q, R and S are playing a game

of carrom. P, Rand S, Q are part-

ners. ‘'S’ is to the right of ‘R’. If ‘R’

is facing West, then ‘Q’ is facing
which direction?

130.

133

134

131.

135.

(1) North
(3) East

(2) South
(4) West
(SSC CGL Tier-I (CBE)
Exam. 01.09.2016) (Ist Sitting)
If North is called North
is called South wes
called South east ai

(3) North (4) South-west
(SSC CGL Tier-I (CBE)
Exam. 02.09.2016) (Ist Sitting)

ajn‘sh started walking towards
rth. He took a left turn after
Iking 20 metres. He again took
right turn after walking 30 me-
tres. Which direction is he fac-

ing now ?
(1) North (2) East
(3) West (4) South

(SSC CGL Tier-1 (CBE)
Exam. 28.08.2016) (Ist Sitting)

. Starting from a point, a person

travels 3 km towards east and
turns left and travels 4 km. Then
again he turns to left by 45° and
moves straight. Which direction
is he facing now?

(1) North-East

(2) North—-West

(3) South-East

(4) South-West

(SSC CGL Tier-1 (CBE)
Exam. 29.08.2016) (Ist Sitting)

. Vijay walks 10 metres westward,

then turns left and walks 10
metres. He then again turns left
and walks 10 metres. He takes a
45 degree turn rightwards and
walks straight. In which direction
is he walking now?

(1) South (2) West

(3) South East (4) South West

(SSC CGL Tier-1 (CBE)
Exam. 30.08.2016) (IInd Sitting)

Facing the East, Rahul turned left
and walked 10 metre, then he
turned to his left again and walked
10 metre. He then turned to-
wards his right and went straight
to cover 25 metre. In which di-
rection is he from his starting
point?

(1) North-West (2) North-East
(3) South-West (4) South-East

(SSC CGL Tier-1 (CBE)
Exam. 31.08.2016) (IInd Sitting)
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136. Rajesh walks 2 km to south, then
turns north-east, and walks 3
km. Then he turns south and
walks 2 kms. Then he turns west
and walks 4 kms. Finally, he
turns north-west and walks 5
kms. In which direction is he from
his starting point?
(1) North-west (2) North-east
(3) South-east (4) South-west
(SSC CGL Tier-I (CBE)

Exam. 02.09.2016) (IInd Sitting)
A driver left his village and drove
North for 20 km. after which he
stopped for breakfast. Then he
turned left and drove another 30
km., when he stopped for lunch.
After some rest, he again turned
left and drove 20 km. before stop-
ping for evening tea. Once more
he turned left and drove 30 km.
to reach the town where he had
supper. After evening tea, in
which direction did he drive?
(1) West (2) East
(3) North (4) South

(SSC CGL Tier-I (CBE)

Exam. 04.09.2016) (Illrd Sitting)
Pranav went 10 km to the North.
Then he turned West and covered
10 km. Then he turned south
and covered 5 km. Finally, he
turned to the East and cove
10 km. In which directionéhe i
from the starting point?
(1) South (2) North
(3) East

137.

138.

139.

and finally turns
m. Now, which
is the boy facing?
(2) West
(4) South
(SSC CGL Tier-I (CBE)
Exam. 09.09.2016) (IInd Sitting)
Sanmitra walked 8 m towards the
north. He turned to his right and
walked 16 m, then he turned to
his left and walked 5 m and again
he turned to his left and walked
16 m. In which direction is he
from his starting point ?
(1) South (2) East
(3) North (4) West
(SSC CGL Tier-I (CBE)
Exam. 11.09.2016) (IInd Sitting)

140.

www.jkchrome.com

| DIRECTION & DISTANCE TEST |

141. If South-East is changed to North
and North-East to West and so
on, then what will come in place
of South ?

(1) South-West
(2) North-East
(3) South-East
(4) North-West
(SSC CGL Tier-I (CBE)
Exam. 04.09.2016) (IInd Sitting)

. A man starts from a point, walks

5 km towards East, turns right

and walks 3 km, turns right again

and walks. What is the direction
he is facing now?

(1) North (2) South

(3) West (4) South-west

(SSC CGL Tier-I (
Exam. 09.09.2016) (Iind Sitting

From her house Rimi we

to the north. Then s

west and covered

she turned sout
km. Finally tur

covered 15

tion is she

142

143.

(SSC CGL Tier-I (CBE)
+20.09.2016) (lInd Sitting)
avi's/house is to the west of
it’s house. Lavi's house is to
north of Ankit's house. In
ich direction is Lavi's house
with respect to Ravi's house?
(1) South-West(2) North-East
(3) North-West(4) South-East
(SSC CHSL (10+2) Tier-1 (CBE)
Exam. 15.01.2017) (IInd Sitting)
. Gurpreetis facing towards south.
She turns right and walks 35m,
then turns right again and walks
40m more. Finally, she turns left
and walks 30m. Which direction
is she facing now?
(1) South (2) North
(3) West (4) East
(SSC CHSL (10+2) Tier-1 (CBE)
Exam. 16.01.2017) (IInd Sitting)
Sanmitra walked 8 m towards the
north. He turned to his right and
walked 16 m , then he turned to
his left and walked 5 m and again
he turned to his left and walked
16 m. In which direction is he
from his starting point ?
(1) South (2) East
(3) North (4) West
(SSC CGL Tier-I (CBE)
Exam. 11.09.2016) (Ist Sitting)

146.

147. A man walks from a point to-

wards south. He turns right at
right angle, then again turns
right at right angle. In what di-
rection is he walking now ?
(1) West
(3) South

s, then turned left
nd ‘avelled 15 kms. How far
Amit from the starting point?
30 kms. (2) 35 kms.
(3)15 kms. (4)5 kms.
(SSC Combined Graduate Level Prelim
Exam.27.02.2000 (Ist Sitting)
2. Mamatha walks 14 metres
towards west, then turns to her
right and walks 14 metres and
then turns to her left and walks
10 metres. Again turning to her
left she walks 14 metres. What
is the shortest distance (in
metres) between her starting
point and her present position?
(1) 38 m (2) 28 m
(3)24m (4)10m
(SSC Combined Graduate Level Prelim
Exam.24.02.2002 (Ist Sitting)
3. Sohan started from point X and
travelled forward 8 km up to
pointY, then turned towards right
and travelled 5 km up to point Z
then turned right and travelled 7
km up to point A and then turned
towards right and travelled 5 km
up to B. What is the distance
between point B and X ?
(1) 1 km (2) 2 km
(3) 3 km (4) 4 km
(SSC Combined Graduate Level Prelim
Exam. 24.02.2002 (IInd Sitting)
4. Hari travelled 17 km to the east,
he turned left and went 15 km,
he again turned left and went 17
km. How far is he from the start-

ing point ?
(1) 17 km (2) 2 km
(3) 15 km (4) 32 km

(SSC Combined Graduate Level Prelim
Exam.24.02.2002 (Middle Zone)
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. Rama travels 10 km towards the
north, turns left and travels 4 km
and then again turns right and
covers another 5 km and then
turns right and travels another 4
km. How far is he from the start-

ing point ?
(1) 5 km. (2) 10 km.
(3) 15 km. (4) 19 km.

(SSC CPO Sub-Inspector
Exam.12.01.2003)
. Ashok wants to book a ticket to
Madurai. He starts and covers 5
kms. to reach the Booking Office
which is in the East of his house.
From there he turns to the North
towards the market by travelling
3 kms. From there he turns left
to his friend Sandeep’s house
which is 5 kms away. Now he has
to get back to his house. How
many kms. he has to cover to
reach his house ?
(1) 8 kms (2) 3 kms
3) 5 kms (4) 6 kms
(SSC CPO Sub-Inspector
Exam. 07.09.2003)
A man starts from his office and
goes 5 km East. Then, he turns
to the left and again walks for 3
km. Again he turns left and walks
5 km. At what distance is he fr
the starting point ?
(1) 3 km (2) 4 km ¢
(3) 6 km (4) 7 km
(SSC Combined Graduate Level
Prelim Exam.O:

ging from t
Siddarth goes
rali proceeds
for 3 kms.
left and covers 4
urns to the right
kms. Now what will
distance between
th and Murali ?
(1) 14 kms. (2) 6 kms.
(3) 8 kms. (4) 7 kms.
(SSC CPO Sub-Inspector
Exam. 05.09.2004)
. Amit travelled 15 kms Eastward,
then turned left and travelled 5
kms, then turned left and trav-
elled 15 kms. How far was Amit
from the starting point ?
(1) 30 kms (2) 35 kms
(3) 15 kms (4) 5 kms
(SSC CPO Sub-Inspector
Exam. 26.05.2005)

www.jkchrome.com
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10. A man walks 6 km towards the
north, then turns towards his left
and walks for 4 km. He again
turns left and walks for 6 km. At
this point he turns to his right
and walks for 6 km. How many
km and in what direction is he
from the starting point ?
(1) 10 km and West
(2) 6 km and South
(3) 4 km and South
(4) 8 km and West

(SSC Statistical Investigators

Grade-IV Exam. 31.07.2005)

Rama travels a distance of 5 km
from a place A towards north,
turns left and walks 3 km; again
turns right and walks 2 km, fi-
nally turns right and walks 3 kms
to reach the place B. What i
distance between A and
(1) 7 km (2 13 k
(3) 2 km

11.

12. Rohan walk
towards N
2 kms. He again
ks for 3 kms.
turns to his left

for 3 kms. How many

msi m the starting point?
5 S (2) 3 kms
S (4) 1 km

(SSC Combined Graduate Level
Prelim Exam. 13.11.2005

(Ist Sitting)

. Rahim travelled straight from
point E to F at a distance of 5
km. From F he turned left and
travelled 6 km and reached point
G, there he took a left turn and
travelled 5 km to reach point H.
He took another left turn and
travelled 2 km and reached point
I. How far is he from the starting

point ?
(1) 3 km (2) 4 km
(3) 5 km (4) 7 km

(SSC Combined Graduate Level
Prelim Exam.13.11.2005
(Ilnd Sitting)
Ravi started walking from his
houses east direction to Bus stop
which is 3 km away. Then he set
off in the bus straight towards
his right to the school 4 km away.
What is the crow flight distance
from his house to the school ?
(1) 1 km (2) 5 km
(3) 7 km (4) 12 km
(SSC Combined Graduate Level Prelim
Exam. 27.07.2008 (Ist Sitting)

14.

15. Somu travelled from a point A
straight to B, a distance of 12 km.
He turned right and travelled 8
km and reached point C. From
that point took right turn and
travelled 6 km, and re:
D. How far is he
starting point ?
(1) 10 km
(3) 13 km

(SSC @

16. A starts\walking from a point
and kms towards north.
He turns90° left and walks a dis-

nc‘md stopped. If the distance
tween initial point and final po-
ions is 13 kms , how much
distance he travelled after turn-
ing from the North?
(1) 1 km (2) 5 kms
3) 7 kms 4) 2 kms
(SSC CPO Sub-Inspector
Exam. 09.11.2008)
17. A man drives his car 50 km to-
wards eastward direction. He
turned right went for 30 km, then
he turned west and drive for
10km. How far is he from the
starting point ?
(1) 50 km (2) 60 km
(3) 100 km (4) 20 km
(SSC CPO Sub-Inspector
Exam. 06.09.2009)
A child is looking for his father.
He went 90 metres in the east
before turning to his right. He
went 20 metres before turning to
his right again to look for his fa-
ther at his uncle’s place 30
metres from this point. His fa-
ther was not there. From here he
went 100 metres to his north
before meeting his father in a
street. How far did the son meet
his father from the starting point?
(1) 80m (2) 100 m
3) 260m (4) 140 m
(SSC Combined Graduate Level Tier-1
Exam.16.05.2010 (Ist Sitting)
19. Peter walked 8 kms. west and
turned right and walked 3 kms.
The again he turned right and
walked 12 kms. How far is he
from the starting point ?
@7 8
B 4 45
(SSC Combined Graduate Level Tier-1
Exam.16.05.2010 (IInd Sitting)

18.
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20. Mohan travelled westward 5
kms., turned left and travelled 3
kms., turned right and travelled
9 kms. He then travelled north 3
kms. How far he is from the start-

ing point ?
(1) 5 kms. (2) 3 kms.
(3) 6 kms. (4) 14 kms.

(SSC SAS Exam. 26.06.2010 (Paper-I)
21. Leela starts from a point and
walks 1 km east and then turns

left and walks 2 km and turns
right and walks 2 km again. She
starts towards a point 2 km to-
wards her right, from where
again she walks 1 km left. How

far is she from the starting point?

1) 3 km 2) 4 km
3) 5 km @) 2 km
(SSC CISF ASI Exam. 29.08.2010

(Paper-I)
My friend and | started simulta-
neously towards each other from
two places 100 m apart. After
walking 30 m, my friend turns left
and goes 10m, then he turns right
and goes 20 m and then turns
right again and comes back to the
road on which he had started
walking. If we walk with the same
speed, what is the distance
tween us at this point of tir@ ?

22.

(1) 50 m (2) 20 m
(3) 30 m (4) 40 m
(SSC CPO Sub

Exam. 12.12.

C Combined Graduate Level
Exam.19.06.2011(Ist Sitting)
Vivek and Ashok start from a
fixed point. Vivek moves 3 km
north and turns right and then
covers 4 km. Ashok moves 5 km
west and turns right and walks
3 km, Now how far are they

Preli
24.

apart ?
(1) 10 km (2) 9 km
(3) 8 km (4) 6 km

(SSC Combined Graduate Level
Prelim Exam.19.06.2011
(Ilnd Sitting)
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25. Ganesh cycles towards South-
West a distance of 8 m, then he
moves towards East a distance
of 20 m. From there he moves
towards North-East a distance of
8 m, then he moves towards West
a distance of 6 m. From there he
moves towards North-East a
distance of 2 m. Then he moves
towards West a distance of 4 m
and then towards South-West 2
m and stops at that point. How

far is he from the starting point?
(1) 12 m (2 10 m
3 8m 4) 6m

(SSC Combined Graduate Level
Tier-1 Exam. 26.06.2011

26. From my house | walk
towards North. | turne
walked 3 km. Againt |
km to the sout a
from my hou
(1) 7 km 2
3) 4 ki ) 5 km
bi Graduate Level
Ti Exam. 26.06.2011
(I'nd Sitting)
e standing at a dis-
ce of 20 km from each other
traight East-West road. A
B start walking simulta-
neously eastwards and west-
wards respectively and both
cover a distance of 5 km. Then A
turns to his left and walks 10 km.
B turns to his right and walks 10
km at the same speed. Then both
turn to their left and cover a dis-
tance of 5 km at the same speed.
What will be the distance be-
tween them ?
(1) 10 km (2) 30 km
(3) 20 km (4) 25 km
(SSC Combined Graduate Level
Tier-1 Exam. 26.06.2011
(Ilnd Sitting)
Rama left home and walked 5 km
southwards, turned right and
walked 2 km and turned right and
walked 5 km and turned left and
walked 5 km. How many
kilometres will she have to walk
to reach her home straight?
(1)5 @7
(3)17 (4) 15
(SSC CPO (SI, ASIn& Intelligence Officer)
Exam. 28.08.2011 (Paper-1)

27

28.

29.

30.

31.

32.

33.

A walks towards north 4 kms.
and turns right and walks 5 kms.
Then he turns towards south and
walks 2 kms. Again, he takes a
turn towards west, w 3kms

further walks 2

is the distanc his
starting poi
(1) 16 km
32 kms.
(SSC Comb; atric Level (PRE)

xam.}24.10.1999 (Ist Sitting)
Sujit ed 15 km to the west,
then#nned right and travelled 8
. He turned left and travelled
km, then turned back and
avelled 13 km. Then he turned
right and travelled 8 km. How far
is he from the starting point?
(1) 17 km (2) 9 km
(3) 11 km (4) 7 km
(SSC Combined Matric Level (PRE)
Exam. 21.05.2000 (Ist Sitting)
(East Zone)
I go 5 km. cast then turn right
and go 8 km. Then turn left and
go 5 km. and then | turn left and
I go 8 km. At what distance | am
from the starting point?
(1) 13 km. (2) 10 km.
3) 7 km. (4) 6 km.
(SSC Combined Matric Level (PRE)
Exam. 21.05.2000 (Ist Sitting)
(Raipur, Madhya Pradesh)
Facing the east Gopi walks
straight 4 kms, turns left and
walks 3 kms and again turns left
and walks 4 kms. How far is he
now from the starting point?
(1) 2 km. (2) 3 km.
(3) 10 km. (4) 11 km.
(SSC Combined Matric Level (PRE)
Exam. 21.05.2000 (Ist Sitting)
(Middle Zone)
Pran and Khan start from their
office and walk in opposite
direction, each travelling 10 km.
Pran then turns left and walks
10 km. While Khan turns right
and walks 10 km. How far they
are now from each other?
(1) 0 km (2)5 km
(3)10 km (4)20 km
(SSC Combined Matric Level (PRE)
Exam. 21.05.2000 (IInd Sitting)
(Middle Zone, Allahabad)
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34. Ranga starts from his house to-
wards south and walks 60 m then
turns towards east and walks 40
m and turns towards north and
walks 30 m and stops. How far
is he away from his house?
(1)30m (2040 m
3)50m (4)35m
(SSC Combined Matric Level (PRE)
Exam. 27.05.2001 (IInd Sitting
(East Zone)
Rohit drives his car from
Bangalore towards Mysore. At a
distance of 80 km, he turns right
and proceeds for 50 km. Again
he turns right and travels for 70
km. Finally he turns again
towards right and travels for 50
km and stops there. How far is
Rohit from Bangalore?
(1) 10 km (2) 40 km
(3) 20 km (4) 30 km
SSC Combined Matric Level (Pre)
Exam. 12.05.2002 (Ist Sitting)
Ram and Shyam started walking
in opposite directions from a
point. Ram covered 7 km and
Shyam covered 5km. Ram turned
right and walked 3 km. Shyam
turned left and walked 3km.
far are they from each othép?

35.

36.

(1) 8 km (2) 10 km
(3) 12 km 4)14 k
SSC Combined Matric Level (Pre,
Exam. 16.06.2 xam
37. A starts walki t P.

(IInd Sitting) (Central Zone)

Rana travels 10km North, turns

left and travels 4 km and then

again turns right and covers an-

other 5 km. He then turns to right

— hand side and travels another

4 km. How far is he from the point

of starting of his journey?

(1)5 km (2)4 km

(3)15 km (4)10 km

SSC Data Entry Operator
Exam. 31.08.2008

38.
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39. Mrs. Kiran starts from Gandhi
Square, Kolkata, drives her car
towards west 6 kms and turning
to her right she drives 4 kms,
then again turns the car to her
right and moves 6 kms. How far
is she from the starting point ?
(1) 6 kms (2) 16 kms
(3) 4 kms (4) 8 kms

SSC Data Entry Operator
Exam. 02.08.2009

40. A man walks 7 km towards north
before taking left turn and walks
further 5 km. Then the takes left
turn and walks 15 km. Finally he
takes left turn again and walks 5
km. How much distance is he
away from the starting point
(1) 8 km (2 12 k
(3) 15 km @) 22

SSC Stenographer (Gral

41. Ramesh drive

east, then e

drives 6 k e again turns to

his, le and travels 4

m is Ramesh

his'starting place ?

(2) 10 km

(4) 14 km

(SSC Higher Secondary Level

Data Entry Operator & LDC

Exam. 27.11.2010)

. Vijay starts from his office and

walks 4 km towards north. Then

he turns right and walks 2km,
then turns right and walks 6 km,
then again turns right and walks

2 km and then turns right and

walks 2 km. How far is he now

from the starting point ?

(1) O km (2) 6 km

(3) 12 km (4) 16 km

(SSC Higher Secondary Level
Data Entry Operator & LDC
Exam. 28.11.2010 (Ist sitting)
Rama is standing at a point fac-
ing north. He walks 10 km
straight, turns left and walks an-
other 15 km straight and finally
turns left and walks 10 km. How
far is he from the starting points

43.

now ?
(1) 10 km (2)5 km
(3) 12 km (4)15 km

(SSC Higher Secondary Level
Data Entry Operator & LDC

Exam. 28.11.2010 (lInd sitting)

44. Sanmitra walks 4 kms. towards
north, turns right and walks 5
k.m. Then he turns towards
south and walks 2 k.m. Again
he takes a turn tow
walks 3 km and s
while. Then he f
km. What is
Sanmitrafrom s
(1) 16 k.

(3) 4 k.m
(s n

3 k.m.
Grade 'C' & 'D'
xam. 09.01.2011)
led 15 km. towards
East, t turned towards North
nd velled 15 km and turned
ards West and travelled 15
. How far is he from the start-
ing point ?
(1) 15 km (2) 30 km
(3) 45 km (4) 0 km
(SSC CISF Constable (GD)
Exam. 05.06.2011)
A travelled westward 8km,
turned left and travelled 3 km,
turned right and travelled 9 km.
He then travelled north 3 km.
How far is he from the starting

45.

Suhas, tra

46.

point ?
(1) 15 km (2) 17 km
(3) 19 km (4) 11 km

(SSC Stenographer (Grade 'C' & 'D")

Exam. 16.10.2011)
Mohan travelled from point ‘A’
straight to ‘B’ at a distance of 8
m. He turned right and walked
4m, again turned to his right and
walked 8 m. Finally he turned to
his right and walked 3 m. How
far he was from his starting
point?
(1)8m
B 1m

47.

(2)3m
4)4m
SSC (10+2) Level Data Entry
Operator & LDC Exam. 04.12.2011
(Ist Sitting (North Zone)
Ram walked 4 km West of his
house and then turned to South
covering 8 km. Finally he moves
6 km towards East and then
again 2 km West. How far is he
from his initial position ?
(1) 4 km (2) 8 km
(3) 10 km (4) 12 km
SSC (10+2) Level Data Entry
Operator & LDC Exam. 04.12.2011
(llnd Sitting (North Zone)

48.
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49.

50.

51.

52.

53.

A, B, C, D and E are standing in
aline facing North. E is standing
40 metres left to B. A is standing
20 metres left to C. D is stand-
ing 20 metres right to E and 50
metres right to C. What is the
distance between A and D ?
(1) 50 metres (2) 60 metres
(3) 70 metres (4) 80 metres
SSC (10+2) Level Data Entry
Operator & LDC Exam. 04.12.2011
(llnd Sitting (North Zone)
Kalpana travelled from point B to
straight to C a distance of 8 feet
She turned left and walked 5 feet
away. Again she turned left and
walked 7 feet and finally turned
left and walked 5 feet. How far
is she from the starting point?
(1) 3 feet (2) 4 feet
(3) 1 feet (4) 5 feet
SSC (10+2) Level Data Entry
Operator & LDC Exam. 04.12.2011
(Ist Sitting (East Zone)
A, B, C, D and E are standing in
a line facing North. E is standing
40 metres left to B. A is standing
20 metres left to C. D is stand-
ing 20 metres right to E and 50
metres right to C. What is the
distance between A and B ?
(1) 70 metres  (2) 80 metre:
(3) 90 metres  (4) 100 m
SSC (10+2) Level Data En
Operator & LDC Exam. 04.12.201
(Ist Sitting
Ramesh went 20
then he turned left

(10+2) Level Data Entry

tor & LDC Exam. 04.12.2011

(IInd Sitting (East Zone)

Sita cycled 8 km southward from

her home turned right and cycled

5 km, turned right and cycled 8

km, turned left and cycled 10

km. How many kms will she

have cycle to reach straight

home?

(1) 8 km (2) 10 km
(3) 15 km (4) 13 km

SSC (10+2) Level Data Entry

Operator & LDC Exam. 11.12.2011

(Ist Sitting (Delhi Zone)

54.

55.

56.

57.

58.
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Mitan travelled 12 kms south-
ward, then turned left and trav-
elled 10 kms, then turned left
and travelled 12 km. How far was
Mitan from the starting point ?
(1) 8 km (2) 10 km
(3) 12 km (4) 14 km
SSC (10+2) Level Data Entry
Operator & LDC Exam. 11.12.2011
(IInd Sitting (Delhi Zone)
A person moves 400 metres to
East. He turns to his left and
moves 400 metres. Then again
he turns to his left and walks 400
metres. Finally he turns to his
right and moves 100 metres. Now
how far away in metres. He_is
from the starting point ?

(1) 1300 (2) 900
(3) 800 45
SSC (10+2) Le

Operator & LDC E

Anita dri fro

wards travels 30 kms.
S her right and
trav and then again

he right and drives
30 kms. How much
e she has to cover to go
straight to the starting point ?
26 kms (2) 8 kms
(3) 22 kms 4) 4 kms
SSC (10+2) Level Data Entry
Operator & LDC Exam. 11.12.2011
(IInd Sitting (East Zone)
Prakash travelled 6 km north-
ward, then turned left and trav-
elled 4 km, then turned left and
travelled 6 km. How far was
Prakash from the starting point?
(1) 6 km (2) 4 km
(3) 10 km (4) 8 km
(SSC Level Data Entry Operator &
LDC Exam.21.10.2012 (Ist Sitting)
Arun travels 8 km towards the
North, turns left and travels 3 km
and then again turns right and
covers another 4 km and then
turns right and travels another 3
km. How far is he from the start-

ing point?
(1) 18 km (2) 11 km
(3) 12 km (4) 15 km

(SSC Level Data Entry Operator &
LDC Exam.21.10.2012 (lInd Sitting)
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59.

60.

61.

62.

63.

Ram starts from his house and
walks 4 kms North, then 3 kms
West, then 8 kms South. How
many kilometres away from his
home was he ?
(1) 6 kms

(3) 5 kms

Acyclistg

the

km{ Againthe turns to his right
and'gees km. After this he
turns t right and goes 40 km.

(2) 10 km
(3) 25 km (4) 40 km
(SSC Level Data Entry Operator
& LDC Exam. 28.10.2012
(Ist Sitting)
A man travels 3 km in the East
and turns to South and moves 4
km. How far is he from the start-
ing point ?
(1) 5 km (2) 6 km
() 2 km (4) 10 km
(SSC Level Data Entry Operator
& LDC Exam. 04.11.2012
(IInd Sitting)
Ganesh is standing at a point. He
walks 20 m towards the East and
further 10 m towards the South;
then he walks 35 m towards the
West; and further 5 m towards
the East. What is the straight dis-
tance in metres between his start-
ing point and the point where he
reached last ?
(1) 20 m (2) 5m
(3) 10 m (4)35m
(SSC Level Data Entry Operator
& LDC Exam. 04.11.2012
(Iind Sitting)
John’s house is 100 metres North
of his uncle’s office. His uncle’s
house is located 200 metres West
of his (uncle’s) office. Kabir is the
friend of John and he stays 100
metres East of John’'s house. The
office of Kabir is located 100
metres South of his house. Then
how far is his uncle’s house from
Kabir's office?
(1) 200 metres (2) 300 metres
(3) 400 metres (4) 500 metres
(FCI Assistant Grade-II
Exam. 22.01.2012 Paper-1)
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64.

65.

66.

67.

68.

A house faces North. A man com-
ing out of his house walked
straight for 10 metres, turned left
and walked 25 metres. He then
turned right and walked 5 me-
tres and again turned right and
walked 25 metres. How far is he
from his house?
(1) 15 metres (2) 55 metres
(3) 60 metres (4) 65 metres
(FCI Assistant Grade-II
Exam. 22.01.2012 Paper-1)
A and B start walking from the
same point. A goes north and
covers 3 km, then turns right and
covers 4 kms. B goes west and
covers 5 kms, then turns right
and covers 3 kms. How far apart
are they from each other ?
(1) 10 km (2) 9 km
(3) 8 km (4) 5 km
FCI Assistant Grade-I11
Exam. 25.02.2012 (Paper-1)
North Zone (Ist Sitting)
A man travels 4 km due north,
then travels 6 km due east and
further travels 4 km due north.
How far he is from the starting

point ?
(1) 8 km (2) 10 km
(3) 6 km (4) 14 km

(SSC Graduate Level Ti

Exam. 21.04.2013, Ist @ting

Ram and Sam start walking
wards North and cover 20 me

7 metres.
wards hi Sam to his
metres for-

Ram from Sam

(2) 5 metres
etres (4) 20 metres
(SSC Graduate Level Tier-I
Exam. 21.04.2013, Ist Sitting)
Ram cycled 10 km southward
from his home, turned right and
cycled 6 km, turned right, cy-
cled 10 km, turned left and cy-
cled 15 km. How many km will
he have cycled to reach straight
home ?
(1) 16 km (2) 20 km
(3) 10 km (4) 21 km
(SSC Graduate Level Tier-I
Exam. 21.04.2013, Ist Sitting)

69.

70.

71.

73.
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Shiela and Belah start from their
office and walk in opposite direc-
tion each travelling 10 kms. Shiela
then turns left and walks 10 kms.
Belah turns right and walks 10
km. How far are they now from
each other?
(1) 10 km (2) 5 km
(2 8 km (4) 20 km
(SSC Graduate Level Tier-I

Exam. 21.04.2013, Ist Sitting)
A and B both are walking away
from point ‘X'. Awalked 3 m and
B walked 4 m from it, then A
walked 4 m north of ‘X' and B
walked 5 m south of A. What is
the distance between them n

1) 9.5m
@) 16 m

X goes 15 t
turns right and
then again t

s right and walks
in turns right
etres. How many

(2) 10 m

(4) 20 m
(SSC Graduate Level Tier-I
Exam. 21.04.2013, lind Sitting)

15m

. One day, Nita left home and cy-

cled 10 km southwards, turned
right and cycled 5 km and turned
right and cycled 10 km and
turned left and cycled 10 km.
How many kilometres will she
have to cycle to reach her home
straight ?
(1) 10 km (2) 15 km
(3) 20 km (4) 25 km
(SSC Graduate Level Tier-I
Exam. 21.04.2013, lind Sitting)
Rajat moves from his office to the
canteen straight at a distance of
12 metres. Then he turned left
and walked for 2 metres. Then
he turns left again and walks
straight for 12 metres. How far
is he from his office ?
(1) 10 metres (2) 12 metres
(3) 8 metres  (4) 2 metres
(SSC Graduate Level Tier-I
Exam. 21.04.2013, lind Sitting)
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74.

75.

76.

77.

Naseebah runs for 10 km in the
eastern direction. She then turns
left and starts walking for 6 km.
Again, she turns left and starts
running for 6 km. The
left and walks agai

point ?
(1) 4 km
(3) 6 km
ate Level Tier-I
Examg¢19.05.2013, Ist Sitting)
Rac starts walking towards
North. er walking 15 metres,
he €urns towards South and
Iks 20 metres. She then turns
wards East and walks 10 me-
tres. Then, again, she walks 5
metres towards North. How far
is she from her starting point and
in which direction ?
(1) 10 metres, West
(2) 5 metres, East
(3) 5 metres, North
(4) 10 metres, East
(SSC Graduate Level Tier-I
Exam. 19.05.2013, lind Sitting)
Rohan walks a distance of 3 km
towards North, then turns to his
left and walks for 2 km. He again
turns left and walks for 3 km. At
this point he turns to his left and
walks for 3 km. How many Kkilo-
metres is he from the starting
point ?
(1) 1 km
(3) 3 km

(2) 2 km
(4) 4 km
(SSC Graduate Level Tier-I
Exam. 19.05.2013, lind Sitting)
A boy starts from home in early
morning and walks straight for 8
km facing the Sun. Then he takes
a right turn and walks for 3 km.
Then he turns right again and
walks for 2 km and then turns
left and walks for 1 km. Then he
turns right, travels 1 km and
then turns right and travels for 4
km straight. How far is he from
the starting point ?

(1) 4 km (2) 5km
(3) 6 km (4) 2 km
(SSC Graduate Level Tier-I
Exam. 19.05.2013, Ist Sitting)
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78.

79.

80.

81.

82.

Seema walks 30 m North. Then
she turns right and walks 30 m
then she turns right and walks
55 m. Then she turns left and
walks 20 m. Then she again turns
left and walks 25m. How many
metres away is she from her orig-
inal position?
(1) 45 m

(3) 66 m

(2) 50 m

(4) 55 m
(SSC CAPFs Sl & CISF ASI

Exam. 23.06.2013)
Sonia started from her house and
travelled 4 km towards east. Then
she turned left and travelled 6
km. Then she turned right and
travelled 4 km. Now at what dis-
tance is she from starting point ?
(1) 14 km (2) 8 km
3) 5km (4) 10 km

(SSC CGL Tier-I

Re-Exam-2013, 27.04.2014)
A boat moves from a jetty to-
wards East. After sailing for 9
nautical miles, she turns towards
right and covers another 12 nau-
tical miles. If she wants to go
back to the jetty what is the
shortest distance now from her
present position?

(1) 21 nautical miles

(2) 20 nautical miles
(3) 18 nautical miles
(4) 15 nautical miles

(SSC CAPFs SI, CISF ASI & Del

turns right. H
this road and
He deliver
completes

for 3'’km and
beat. Then,

ay. How far has
el to reach the post-of-
nch ?
(2) 10 km
3) 9 km 4) 8 km
(SSC CAPFs SI, CISF ASI & Delhi
Police SI Exam. 22.06.2014)
‘A’ walks 10 metres in front and
10 metres to the right. Then ev-
ery time turning to his left, he
walks 5, 15 and 15 metres re-
spectively. How far is he now
from his starting point?
(1) 5 metres (2) 10 metres
(3) 20 metres  (4) 25 metres
(SSC CGL Tier-1 Re-Exam. (2013)
20.07.2014, Ist Sitting)
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83. Rahul travelled from a point and
straightly goes to point 'Y’ at a dis-
tance of 90 metres. He turned
right and walked 40 metres, then
again turned right and walked 70
metres. Finally, he turned right
and walked 40 metres. How far
he is from the starting point ?
(1) 70 metres  (2) 10 metres
(3) 20 metres  (4) 30 metres
(SSC CGL Tier-I Re-Exam. (2013)
20.07.2014, IInd Sitting)
Deepak walks 20 metres towards
North. He then turns left and
walks 40 metres. He again turns
left and walks 20 metres. Fur-
ther he moves 20 metres after
turning to the right. How far is
he from his original positio
(1) 20 mts. (2) 60 mt

(3) 50 mts.  (4) 30

84.

85. Raju cycled 10

his house, turne

have to cycle
is house ?
(2) 5 km
m (4) 15 km
GL Tier-1 Exam. 26.10.2014)
walks 2 km to the East, then
he turns to South and walks 6
km. He again turns to East and
walks 2 km. Then he turns to
North and walks 12 km. How far
is he from the starting point ?
(1) 7 km (2) 7.1 km
(3) 7.2 km (4) 7.3 km
(SSC CHSL (10+2) DEO & LDC
Exam. 02.11.2014, Patna Region :
Ist Sitting)
Ram walks 12 kms to the North,
then 10 kms to West, 12 kms to
South. How far is Ram from the
starting point ?
(1) 9 kms (2) 13 kms
(3) 8 kms (4) 10 kms
(SSC CHSL (10+2) DEO & LDC
Exam. 02.11.2014, IInd Sitting)
A cyclist rides 40 kms to the east,
turns north and rides 20 kms,
again turns left and rides 20 kms.
How far is he from the starting

87.

88.

point ?
(1) 0 km (2) 10 kms
(3) 20 kms (4) 30 kms

(SSC CHSL (10+2) DEO & LDC
Exam. 09.11.2014)

89.

90.

9l1.

92.

Raju was to go to the planetari-
um. So he walked 1.5 kms to-
wards east from the place and
then turned to right and walked
2.5 kms and then turned.towards
east and walked 1 km
to south and wal
reached the pla
kms towards wes
is he from

(1) 6.5 k
@)1
SSC

9 kms
SL (10+2) DEO & LDC
Exam. 09.11.2014)
Mr. D rted his journey from
is r§use straight to his friend’s
use at adistance of 12 km. On
urning he walked 8 km in the
ame route and turned right and
walked 4 km, then he turned to
his left and walked 4 km. Finally
he turned to his left and walked
2 km. How far was he from his
house ?
(1) 8 km (2) 4 km
(3) 6 km (4) 2 km
(SSC CHSL (10+2) DEO & LDC
Exam. 16.11.2014, Patna Region :
(Ist Sitting)
Seeta and Geeta started walking
from a point A. Seeta walks 6 km
towards North and then takes a
right turn and walks 3 km. She
then takes a right turn towards
South and walks for 6 km. She
again takes a left turn and walks
3 km, and reaches a point B.
Geeta walks for 3 km towards
West and takes a left turn and
walks for 6 km; she takes a left
turn and walks 9 km, and she
reaches at a point C. How far is
the point B from point C ?
(1) 3 km (2) 4 km
3) 9 km (4) 6 km
(SSC CHSL (10+2) DEO & LDC
Exam. 16.11.2014, Patna Region :
(Ist Sitting)
Ram and Shyam started from a
fixed place. Ram moves 3 km to
the North and turns right, then
walks 4 km. Shyam moves to-
wards West and walks 5 km,
then turns to right and walks 3

km. How far Ram is from
Shyam ?

(1) 13 km (2) 16 km

3) 9km (4) 10 km

(SSC CHSL (10+2) DEO & LDC
Exam. 16.11.2014)
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93. A student walked out from the
Classroom towards the Library.
She went first to the Canteen on
the left side, 24 ft away. After a
cup of tea, took a right turn and
went to the Laboratory 13 ft
away. She then went to the Phys-
ics Block, 15 ft to the left. She
talked to a friend, in the garden
3 ft on the left and continued
walking in the same direction to
the Library, 10 ft more. What was
the actual distance between the
Library and the Classroom ?
(1) 421t (2) 65 ft
3) 39 ft (4) 34 ft
(SSC CHSL (10+2) DEO & LDC
Exam. 16.11.2014)
Dinesh and Ramesh start
together from a certain point in
the opposite direction on
motorcycles. The speed of
Dinesh is 60 km per hour and of
Ramesh is 44 km per hour. What
will be the distance between them
after 15 minutes?
(1) 20 km (2) 24 km
(3) 26 km (4) 30 km
(SSC CGL Tier-1 Exam. 19.10.2014
TF No. 022 MH 3)
Aninsectiswalking in a strai
line. Itcovers adistanceof #5 ¢
per minute. It comes back
cm after every 15 cm. How lon
will it take to cover a distance of
1 metre ?
(1) 6.5 min
(3) 10 min
(SSC CGL T

94.

95.

)

96. cing South

alks 15 m and

was her starting point ?
(1) 10 metres (2) 9 metres
(3) 15 metres (4) 12 metres
(SSC CAPFs SI, CISF ASI & Delhi
Police SI Exam, 21.06.2015
(Ist Sitting) TF No. 8037731)
Arjun starts from school and
walks 4 km towards West, turns
right and walks 3 km. Then he
planned to return back to school,
but only in the shortest path.
What is the shortest distance
between the school and the point
where he stopped ?

97.
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(1) 3 km (2) 16 km
(3) 25 km (4) 5 km
(SSC CAPFs SI, CISF ASI & Delhi
Police SI Exam, 21.06.2015
lind Sitting)
A man starts journey from home.
He goes 5 kms to the North, then
proceeds 10 kms to the right.
From there he again turns right
and goes 10 kms. How far is he
from home? All distances are
measured aerially.

@) /200 @ 4150
(3) 225 @) 125

(SSC CAPFs SI, CISF ASI & Delhi
Police SI Exam, 21.06.2015
lInd Sitti

Sunita rode her scooty narth-

98.

99.

again rode to her left
found herself exac

100.
rds East, turns left
d moves 500 metre, then turns

walks 600 metre and then
ns left again and moves 500
metre and halts. At what distance
in metres is she from the start-

ing point?
(1) 600 (2) 2200
(3) 500 @ o

(SSC CGL Tier-1 Exam, 09.08.2015
(Ist Sitting) TF No. 1443088)

Sohan drove 15 kms. to the west
from his house, then turned left
and walked 20 kms. He then
turned East and walked 25 kms.
and finaly turning left covered 20
kms. How far he is from his

101.

house?
(1) 5 Kms. (2) 40 Kms.
(3) 10 Kms. (4) 80 Kms.

(SSC CGL Tier-1 Exam, 09.08.2015
(I'nd Sitting) TF No. 4239378)
Veena and Veeru both start from
a point towards North. Veena
turns to left after walking 10 km.
Veeru turns to right after walk-
ing the same distance. Veena
waits for some time and then
walks another 5 km. Whereas
Veeru walks only 3 km. They
both then return towards South

102.

and walk 15 km. forward. How
far is Veena from Veeru?

1) 8 km. () 15 km.

(3) 12 km. (4) 10 km.
(SSC CGL Tier-1 Exam,

103.

turns left and t
reaches pointe@®..

right and €0 r5 kms
Afterwarad to east and
driv, . Ho uch distance
he Ras to travel to go back to the
stal point?
(1) 35 (2) 25 kms

) Skas (4) 20 kms

SC CGL Tier-1 Exam, 16.08.2015
(IInd Sitting) TF No. 2176783)
A man starts from a point and
moves 3 km North, then turns to
West and goes 2 km. He turns
North and walks 1 km and then
moves 5 km towards East. How
far is he from the starting point?
(1) 11 km. (2) 10 km.
(3) 8 km. (4) 5 km.
(SSC CGL Tier-I
Re-Exam, 30.08.2015)
Abhay travelled 9 km Northwards,
turned left and travelled 5 km,
then turned left again and
travelled 9 km. How far is Abhay
from the starting point?
(1) 5 km. (2) 9 km.
3) 4 km. (4) 14 km.
(SSC CGL Tier-1 Re-Exam, 30.08.2015)

106. Laxmi went 10 km to the West
from my house, then turned left
and walked 20 kms. She then
turned East and walked 25 kms
and finally turning left covered 20
kms. How far was she from my

105.

house?
(1) 5 kms (2) 10 kms
(3) 15 kms (4) 40 kms

(SSC CHSL (10+2) LDC, DEO & PA/SA
Exam, 01.11.2015, IInd Sitting)
107. If Sita walks 10 km towards
West, then turned towards South
and walked 10 km, then turned
East walked 10 km, and turned
North walked 10 km. How far she
is from starting point?
(1) 40 km (2) O km
(3) 10 km (4) 20 km
(SSC CHSL (10+2) LDC, DEO & PA/SA
Exam, 01.11.2015, IInd Sitting)



39 www.jkchrome.com

108.

109.

110.

111.

112.

113.

Q walked 20 m towards west,
took a left turn and walked 20
m. He then took a right turn and
walked 20 m and again took a
right turn and walked 20 m. How
far is Q now from the starting
point ?
(1) 120 m (2) 40 m
(3) 50 m (4) 80 m

(SSC CHSL (10+2) LDC, DEO

& PA/SA Exam, 15.11.2015

(Ist Sitting) TF No. 6636838)

After going 80 m from his house
towards east, a person turns left
and goes 20 m, then turns right
and moves 100 m, then turns left
and goes 60 m, then turns right
and goes 120m to reach the park.
What is the distance between his
house and the park?

(1) 80 metre (2) 120 metre

(3) 20 metre (4) 100 metre
(SSC CHSL (10+2) LDC, DEO
& PA/SA Exam, 15.11.2015
(Ilnd Sitting) TF No. 7203752)

Karthik travelled 3 km east, then

took a right turn and travelled 4

kms. How far is he from starting

point ?

(1) 5 kms (2) 12 kms

() 3 kms 4) 7 kms
(SSC CHSL (10+2) LDC, D
& PA/SA Exam, 06.120201
(IInd Sitting) TF No. 3441

Kailash walks 3 kms to East an

ing point?

(1) 6 kms
() 3 kms 5 kms
,16.08.2015
TF No. 2176783)
S rom a point O, Mahesh

tance of 5 km. South,
to his right and walks
rom there he again turns
right and walks 5 km. He then
turns to his left and walks 5 km.
How far is he from the starting
point?
(1) 13 km. (2) 8 km.
3) 5 km. (4) 15 km.
(SSC (10+2) Stenographer Grade ‘C’
& ‘D’ Exam. 31.07.2016)
Rahul walks 30 metres towards
south. Then turns to his rightand
starts walking straight till he
completes another 30 metres.
Then again turning to his left he

114.

115.

117.

118.
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walks for 20 metres. He then
turns to his left and walks for 30
metres. How far is he from his
initial position?
(1) 50 metres (2) 30 metres
(3) 10 metres (4) 60 metres
(SSC CGL Tier-I (CBE)
Exam.11.09.2016) (Ist Sitting)
Ruhi travels 10 km towards
north, turns left and travels 4 km
and then again turns right and
covers another 5 km and turns
right and travels another 4 km.
How far is she from the starting
point?
(1) 5 km
(3) 15 km

(2) 10 km
(4) 20 km

(SSC CPO SI, ASI O
Exam.05.06.2016) (IInd Sitting

Anushka starts from poj
walks 10m towards

5m. Again she

and walks

takes one re

up to the poit M. How far is she
fra oint L?

(2) 20 metre

(4) 30 metre
SSC CPO SiI, ASI Online
E .05.06.2016) (IInd Sitting)

ts from his office and goes
km southwards, he then
proceeds 5 km to the right. He
then travels 7 km to the left,
again travels 7 km to the left and
eventually goes 22 km towards
left. Measure the distance
between the final and starting
point.

(1) 3 km (2) 2 km
(3) 1 km (4) 4 km
(SSC CPO Exam. 06.06.2016)
(Ist Sitting)

A goes 7 km eastward, then turns
right and proceeds 7 km, then
travels 15 km towards left, then
travels 12 km towards left and
finally goes 5 km northward.
Calculate his distance from his
initial place in the horizontal
direction.

(1) 20 km. (2) 22 km.
(3) 23 km. (4) 25 km.
(SSC CPO Exam. 06.06.2016)
(Ist Sitting)

Deepak starts walking straight
towards east. After walking 75
metres, he turns to the left and
walks 25 metres straight. Again

119.

121

122

he turns to the left, walks a
distance of 40 metres straight,
again he turns to the left and
walks a distance of 25 metres.
How far is he from thggstarting
point?

(1) 35 m

(3) 115 m

km{South.

stal point ?

Q) 34 (2) 24 km
29km (4) 10 km

(SSC CAPFs (CPO) SI & ASI,
Delhi Police Exam. 20.03.2016)
(Ilnd Sitting)

. Seeta and Ram both start from a

point towards North. Seeta turns
to left after walking 10 km. Ram
turns to right after walking the
same distance. Seeta waits for
sometime and then walks another
5 km, whereas Ram walks only
3 km. They both then return to
their respective South and walk
15 km forward. How far is Seeta
from Ram ?
(1) 8 km (2) 12 km
(3) 15 km (4) 10 km

(SSC CAPFs (CPO) SI & ASI,

Delhi Police Exam. 20.03.2016)
(Ilnd Sitting)

. A man starts from a point and

moves 9 km South and then
turns to East and goes 3 km. He
turns South and walks 3 km and
then moves 8 km towards West.
How far is he from the starting
point ?
(1) 15 km (2) 12 km
(3) 11 km (4) 13 km

(SSC CAPFs (CPO) SI & ASI,

Delhi Police Exam. 20.03.2016)
(Ilnd Sitting)

. A bus starts from point A and

runs 20 kms towards South,
turns to its right and runs 25 km.
It then turns right again runs 20
km. Afterwards it runs 5 km in
the East direction and reaches
point B. How far is the bus from
the starting point ?
(1) 35 km (2) 20 km
(3) 25 km (4) 30 km

(SSC CAPFs (CPO) SI & ASI,

Delhi Police Exam. 20.03.2016)
(Ilnd Sitting)
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123

124.

125.

126.

127.

128.

. A man goes 10 km westward,
then turns right and proceeds 4
km, then travels 10 km towards
left, then travels 8 km towards
left and finally goes 4 km
northward. Calculate his distance
from his initial place in the
horizontal direction.

(1) 20 km (2) 22 km
(3) 23 km (4) 25 km
(SSC CPO SI & ASI, Online

Exam. 06.06.2016) (IInd Sitting)
Ram walks 3 km towards East and
takes a left turn and walks for one
km before he turns left and walks
2 km to take another left turn to
walk for another one km. How many
km is he away from his starting
point?
(1) 1 km.
(3) 3 kms.

(2) 2 kms.
(4) 4 kms.

(SSC CGL Tier-I (CBE)

Exam. 27.08.2016) (Ist Sitting)
X walked 20 feet from A to B in the
East direction. Then X turned to
the right and walked 6 feet. Again
X turned to the right and walked
28 feet. How far is X from A ?
(1) 28 2 9
3 10 @) 27

(SSC CGL Tier-I (CBE)

Exam. 30.08.2016) (Ist Sitting)
Ram went 20 metres to the nor
then turned towards east
walked another 5 metres, th
he turned towards right an
covered 20 metres. H
he from the startin
(1) 3 metre
(3) 5 metre

-1 (CBE)
) (Ist Sitting)
at place “P”.
g in the opposite
at the speed of 5 kmph
h respectively. What
the distance between them

aft hours?
(1) 3 kms. (2) 21 kms.
(3) 18 kms. (4) 27 kms.

(SSC CGL Tier-I (CBE)
Exam. 02.09.2016) (Ist Sitting)
Sham goes to his friend’s house
that is straight 10 km from his
house. On his way back, he takes
aright turn and walks 2 km and
again takes a right turn and walks
for 10 km before he takes a right
turn again. How much distance
is Sham still away from his
house?

www.jkchrome.com
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(1) 10 km
(3) 12 km

(2) 8 km
(4) 2 km

(SSC CGL Tier-I (CBE)
Exam. 01.09.2016) (IInd Sitting)
. A girl walks 30 metre towards
south, then turning to her right
she walks 30 metre, then turn-
ing to her left, she walks 20 me-
tre, again she turns to her left
and walks 30 metre. How far is

she from her initial position?

(1) 20 metre (2) 30 metre

(3) 50 metre (4) 60 metre
(SSC CGL Tier-I (CBE)
Exam. 03.09.2016) (Illrd Sitting)
Rama walked 10 kms south and
turned right and walked
5 kms. Then again she tur
right and walked 10 kms.
she turned left and walke
How many kms will
to walk to reach the starti

129

130.

(1) 25 km (
(3) 5 km
SC -1 (CBE)
Exam. 06:09.2016) (Illrd Sitting)

131. hool from his

s 400 metres to-

00 metres, turns left and walks
tres. How far he is away
m his house?

100 metre (2) 300 metre

(3) 200 metre (4) 250 metre
(SSC CGL Tier-I (CBE)
Exam. 07.09.2016) (Ilird Sitting)
. Prabhu travelled from his house
a distance of 20 kms to his
friend’s house. After some time
he left his friends house and took
aturn towards right and travelled
15 kms to reach a park. After
resting for a while, he again start-
ed and turned to right and trav-
elled 18 kms to reach a petrol
pump. From there he again
turned right and covered a dis-
tance of 15 kms. How many km
more he has to travel to reach

home?
(1) 2 kms (2) 18 kms
(3) 21 kms (4) 23 kms

(SSC CGL Tier-I (CBE)

Exam. 10.09.2016) (Ilird Sitting)
Rohan walks a distance of 3 kms
towards North, then turns to his
left and walks for 2 kms. He again
turns left and walks for 3 kms.
At this point he turns to his left

133.

134.

136.

137.

138.

and walks for 3 kms. How far is
he from the starting point?

(1) 5kms (2) 3 kms
3) 2 kms 4) 1 km.
(SSC CGL Tiengl (CBE

Exam. 03.09.2016)

3) [0 “4) 5
(SSC CGL Tier-1 (CBE)
Ex 6.09.2016) (IInd Sitting)

anagwalks 20 metre straight in
rth direction and 20 m to the
ht. Then every times turning
0 his left he walks 5, 25 and 25
metres respectively. How far is
he from his starting point now?
(1) 5 metre (2) 20 metre
(3) 25 metre (4) 30 metre
(SSC CGL Tier-I (CBE)
Exam. 06.09.2016) (IInd Sitting)
Deepu started his journey from
A and moves 2 km towards South,
then he turns right and moves

2
right turn and walks 2 km. Now
he takes a left turn and walks 3
km more. How far he is from the
starting point ?
(1) 3.5 km

) 7.5 km

kilometre. Again he takes a

(2) 2.5 km

(4) 1.5 km
(SSC CGL Tier-I (CBE)

Exam. 07.09.2016) (IInd Sitting)
Ajit, starting from a fixed point,
goes 10m towards North and then
after turning to his right he goes
10 m. Then he goes 5,10 and 10
metres after turning to his left
each time. How far is he from his
starting point ?
(1) 15m
(3)5m

(2) 10 m

4) 3m
(SSC CGL Tier-I (CBE)

Exam. 08.09.2016) (IInd Sitting)
Sunita travels 6 Km towards
north east. Then travels 9 Km
towards west. From there, she
goes 6 Km southwest and finally
goes 3 Km towards east. How far
is she from her initial position?
(1) 3 km. (2) 6 km.
3) 9 km. 4) 12 km.

(SSC CGL Tier-I (CBE)
Exam. 11.09.2016) (IInd Sitting)
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139. Dinesh travels from a point A 8
km towards B eastwards and
turns right and walks 12 km to
C, turns again right and walks 4
km to a point D, again turns right
and travels 8 km to E. From E
he turns left and walks to F 4
km. Now how far is he from start-

ing pont?
(1) 4km (2) 6 km
(3) 8 km (4) 12 km

(SSC CGL Tier-I (CBE)
Exam. 27.10.2016) (Ist Sitting)
Kishore starts from a point and
walks 6 km towards East and
turning to his left he moves 3 km.
After this, he again turns to his
left and moves 6 km. Now, how
far is he from his starting point ?
(1) 3 km (2) 2 km
(3) 4 km (4) 5 km
(SSC CGL Tier-I (CBE)
Exam. 27.10.2016) (IInd Sitting)

TYPE-III ]

. At 12.30 the hour hand of a
clock faces North and the
minute hand faces South. At
2.45 the minute hand will be in
which direction?

(1) North-West (2) West

140.

(3) South-East (4) East
(SSC Combined Graduate Level Pr
Exam.27.02.2000 (Ist Sittin

2. If the clock read 6.20

in which direction

hand point?
(1) West (2
(3) East h-West
(SSC ic Level (PRE)

5.2000 (Ist Sitting)
(East Zone)
cing North-west. He
in Cclockwise direction by
n 180° in the anti-clock-
wise direction and then another
90° in the same direction. Which
direction is he facing now?
(1) South-west (2) West
(3) South (4) South-east
(SSC Combined Matric Level (PRE)
Exam. 05.05.2002 (Ist Sitting)
(North Zone, Delhi)
. | am facing West. | turn 90° in
clockwise direction, then 135°%in
anticlockwise direction. What di-
rection am | facing?

www.jkchrome.com
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(1) South (2) North
(3) North-West (4) South-West
SSC Combined Matric Level (Pre)
Exam. 05.05.2002 (lInd Sitting)
(North Zone Delhi)
. Sandhya walks straight from
point A to B which is 2 kms away.
She turns left, at 90° and walks
8 kms to C, where she turns left
again at 90° and walks 5 kms to
D. At D she turns left at 90° and
walks for 8 kms to E. How far is
she from Ato E ?
(M2 (23
(3)5 4)8
(SSC Combined Graduate Level Prelim
Exam.11.05.2003 (Ist Sitting)
6. Mira starts at point T, walks
straight to point U which is,
away. She turns left, at
walks to W which is
turns 90° right and g
P, turns 90° right
to Q, turns left
toV, whichii i

C Co Graduate Level Prelim
Exam.11.05.2003 (lInd Sitting)
oved to his North - West
ide for 2 km. From there he
turned 90° clockwise and moved
2 km. From there he turned 90°
clockwise and travelled 2 km then
he would be in which direction
from the original position ?
(1) South East Region
(2) North East Region
(3) South West Region
(4) Western Region
(SSC Combined Graduate Level Prelim
Exam. 27.07.2008 (Ist Sitting)
8. A and B start from a point simul-
taneously. A moves to his East
and travels 2 km, and B moves
to his south and travels 2 km. A
takes turn 90° clockwise and
travels 2 km. B takes left turn
90° anticlockwise and travels 2
km. Where would they be found
from the starting point?
(1) Both in South - East region
(2) Both in East region
(3) Ain Eastand B in North region
(4) A in south and B in North
region
(SSC Combined Graduate Level Prelim
Exam. 27.07.2008 (lInd- Sitting)

9.

10.

11.

12.

Karan facing towards south
moved straight 2 km and from
there turned to his right 90° and
travelled 2 km. Then he took a
45° turn to his left and travelled
1 km. Where would now
with respect to the

(2) South-eas
(3) North-
(4) South-
am. 29.08.2010

(Paper-1)
haped field A, B, C,
D persons are standing at the
id@ of each side. You have to
r in mind the directions to be
lowed as shown in the figure.

Ina

w

1
If A moves clockwise 25 sides

and D moves anti-clockwise 25

sides they will be in
(1) South and West region
(2) North and East region
(3) South and North region
(4) North and West region
(SSC CPO Sub-Inspector
Exam. 12.12.2010 (Paper-I)
Rahim rode on his bicycle from
his house towards the market for
300 m. He was moving south-
west. Then he turned left at an
angle of 135° and rode for 100 m
to visit a friend. In which direc-
tion is Rahim's house located
from his friend's house?
(1) North (2) East
(3) West (4) South
(SSC CAPFs SI, CISF ASI & Delhi
Police SI Exam. 22.06.2014)
A man is facing South. He turns
135° in the anticlockwise direc-
tion and then 180° in the clock-
wise direction. Which direction is

he facing now ?
(1) South - East (2) South - West

(3) North - East (4) North - West
(SSC GL Tier-1 Exam. 26.10.2014)
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13. Ravi is walking in the East direc-
tion. After covering a distance of
one kilometre, he turns 45° left
and then 90° right. In which di-
rection is he now?

(1) North-East (2) West

(3) North-West (4) North

(SSC CGL Tier-I Exam, 16.08.2015
(Ist Sitting) TF No. 3196279)

l TYPE-IV )

Directions (1-2) : In the follow-
ing questions there are 6 check-posts
A, B,C, D, E and F. Check-post F is 15
km to the North of D which is 25 km
to the North-East of B. Check-post A
is 5 km West of E and 15 km to the
South-West of C. Check-posts B, A and
E are in a straight line. The check-posts
B, and E are 30 km apart from each
other.

(SSC Combined Graduate Level
Prelim Exam. 04.02.2007
(Ist Sitting)
1. If a_jeep moves from E to F via A,
B, and D, how much distance will
it have to cover ?
(1) 70 km (2) 120 km
(3) 100 km  (4) 90 km
2. Which check-post is the farthest
to the South-West of D ?

(A @B *
(3 C 4)D
Directions (3-4) : Kiran walks
m north, he turns right and
m, then he turns right and
m, then he turns left and
then he turns left an

(IInd Sitting)
rom his starting

(4)30 m

4. Which'direction is Kiran facing
now ?
(1) East (2) West
(3) North (4) South

Directions (5-6) : Study the fol-
lowing information to answer the ques-
tions given below :

Ramu walks 2 km towards North
and turn to his right and walks 4 km
more. He then turns to his right and
walks 4 km and turns again to his right
and walks another 4 km.

(SSC CPO Sub-Inspector

Exam. 16.12.2007)
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5. Which direction is Ramu facing

now ?
(1) East (2) North
(3) South (4) West

6. How far away is Ramu from the
starting point ?
(1) 2 km
(3) 6 km

(2) 4 km

(4) 8 km
(SSC CPO Sub-Inspector
Exam. 16.12.2007)
7. At dusk, Rohit started walking
facing the sun. After a while, he
met his friend and both turned
to their left. They halted for a
while and started moving by turn-
ing again to their right. Finally
Rohit waved 'good bye’ to his
friend and took a left turn
corner. At which directiongi
hit moving now ?
(1) South (2) We!
(3) North

Sitting)
trunning
rds North and
s. you turn to

Exam.

to your leftand run 5
d then turn to left again
another 6 kms and be-
finishing you take another left
urn and run 1 km., then answer
the following question based on
this information.
Question : From the finishing
point if you have to reach the
point from where you started, in
which direction will you have to

run?
(1) West (2) East
(3) South (4) North

(SSC CGL Tier-1 Exam, 09.08.2015
(IInd Sitting) TF No. 4239378)

l TYPE-V )

1. X starts from a point P towards
west and reaches next point Q.
From there he turns towards
North and reaches place R. From
there he takes turn towards
South-West and reaches a place
S. From there he takes turn to-
wards North-West and reaches
place T. The path of his_journey
is correctly shown by which of
the given responses.

SQ Combined Matric Level (Pre)
Exam. 30.07.2006 (Ist Sitting)
(East Zone)
2. Raju starts from a place A to-
wards South and reaches second
place D. From there he takes turn
towards N-W and reaches point
E. From there he takes turn to-
wards N-E and reaches place F.
From there he takes turn towards
S-E and reaches place G. From
there he takes turn towards
South and reaches place H.
Which of the following figures
indicates his path of journey cor-
rectly?

G
A E

H D® H
(¢)) @ (©)) (O]

SSC Combined Matric Level (Pre) Exam.
30.07.2006 (lInd Sitting) (Central Zone)

TYPE-VI )

Eight people A, B, C, D, E, F, G
and H are seated as shown inthe
figure. All are facing outwards. If
A and B interchange their places
with each and D and H inter-
change their places with each
other then which one of the fol-
lowing statements is not
correct ?
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2.

(1) H is facing South-East
(2) B is facing North
(3) G is facing West
(4) A is facing North-West

(SSC Combined Matric Level (PRE)
Exam. 05.05.2002 (lInd Sitting)

(Eastern Zone, Guwahati)
Eight people A, B, C,D,E, F, G
and H are placed in this manner.

N
A
H
W G CE
F D
E
S

All are facing outwards. If all of
them move two positions in
clockwise direction, then the
directions, H will be facing, is
(1) North-east (2) North
(3) North-west (4) East
SSC Combined Matric Level (Pre)
Exam. 12.05.2002 (Ist Sitting)
Eight people A, B, C, D, E, F, G
and H are placed as shown in the
diagram. All are facing in the
outward direction. If all of t
move anticlockwise to Qre
places then.

facing South
SSC Combined Matric Level (Pre)
Exam. 12.05.2002 (lInd Sitting)
Four villages A, B, C and D lie in
a straight line. D is 10 kms from
B. A is exactly between D and C
and C from B is 2 kms more than
it is from D. How far is C from
B?
(1) 4 kms
(3) 8 kms

(2) 6 kms

(4) 2 kms
(SSC GL Tier-1 Exam.
19.10.2014, Ist Sitting)

5.
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A is located to the West of B. C is
located at North in between A and
B. D is exactly to the South of B
and also in line with B. In which
direction of C is D located?
(1) South (2) South-East
(3) West (4) South-West
(SSC GL Tier-I Exam. 19.10.2014)

. Eight friends A, B,C, D, E,F, G

and H are sitting around a round
table in the same order at equal
distances. Their positions are in
clockwise direction. If G, who is

www.jkchrome.com

89.(1)| 90.()| 91.2 | 92.(1)
93.2)| 94.(2)| 95.(3) | 96.(1)
97.(4)| 98.(1)| 99.(4) [100. (1)
101. 4) [102. (2)
105. (3) [ 106. (1)
109. 3) [110. 2

113.(2)

116. (4)

117. (1)

121. (3)

120. (3)

124. (4)

sitting in the North exchanges 125. (1) 127. (4) |128. (2)
seat with C and B exchanges seat 130.(1) | 131. (4) [132.(1)
:\il;t:tl:fhl!??w who is sitting to the %4- @ |135. (1) [136.1)
M A @ G 138. (2) | 139. (3) | 140. (3)
Q) E (4) B ) 142. (3) | 143. 3) [144. (2
O ot o+2) 145. (3) [ 146. (3) | 147. (2)
(Ist Sitting)
TYPE-II )

1.@ 2. 3.0 40
[ ] 53| 6.@| 7.0 8.
9.4 10.(1)| 11.(1)| 12.(8)
M 3. 4.0 13.2)| 14.@| 15.(1)| 16.(2)
Q)| 7.49| 8.2 17.(1)| 18.(2)| 19.@) | 20.(@)
0.2 1. 12.(2 21.2)| 22.2| 23.3)| 24.(2)
14.(2)| 15.(4)| 16.(1) 25.2)| 26.@)| 27.(1)| 28.(2)
.3 18.(1)| 19.(4)| 20.(1) 29.3)| 30.Q3)| 31.(2| 32.(2
1.(1)| 22.(4)| 23.(4)| 24.(2) 33.(4)| 34.3)| 35.(1)| 36.(3)
5.1)| 26.4)| 27.2)| 28.(1) 37.(4)| 38.03)| 39.(3)| 40.(1)
29.3)| 30.(1)| 31.@| 32.(2 41.(1)( 42.(1)| 43.(4)| 44.(2
33.(1)| 34.(2| 35.(2)| 36.(2 45.(1)| 46.(2)| 47.(3)| 48.(2
37.(1)| 38.3)| 39.(3)| 40.(1) 49. (3)| 50.(3)| 51.(3)| 52.(4)
41.(1)| 42.(4)| 43.3)| 44.(1) 53.3)| 54.(2)| 55.(4)| 56.(4)
45.2)| 46.02)| 47.03)| 48.03) 57.2)| 58.(3)| 59.(3)| 60.(2)
49.3)| 50.(1)| 51.2| 52.(1) 61.(1)| 62.(1)| 63.(2)| 64.(1)
53.3)| 54.2)| 55.0)| 56.2 65.2)| 66.(2| 67.(1)| 68.(4)
57.(1)| 58.3)| 59.@2 | e0.(1) 69.4)| 70.Q3)| 71.(1)| 72.(2
61.0| 623 | 63.3)| 64.0) 73.4)| 74.(1)| 75.(49) | 76.(1)
5.0 ] 6.3 67.@| es. @ 77.2)| 78.(2| 79.(4) | 80.()
69.(1)| 70.(2| 71.@@) | 72.() 81.09)| 82.(1)) 83.0)| 84.02
85.(4)| 86.(3)| 87.(4)| 88.(4)

73.3)| 74.(2| 75.(3)| 76.(3)
89.(1)| 90.(4)| 91.(4)| 92.(3)
77.(4) 78.] 79.(1)| 80.0) 93.(3)| 94.(3)| 95.(2)| 96.(2
81.(4)| 82.(4)| 83.(4)| 84.(2 97.@ | 98.@| 99.(3) |100.@
85.(4)| 86.(1)| 87.(2)| 88.03)||[101.(3)|102. (1)] 103. (3) | 104. (3)
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105. (1)

106. (3)

107. (2)

108. (2)

109. (%)

110. (1)

111. (4)

112. (2)

113.(1)

114. (3)

115. (2)

116. (2)

117.(2)

118. (1)

119. (4)

120. (1)

121. (4)

122. (2)

123. (1)

124. (1)

125. (3)

126. (3)

127. (4)

128. (4)

129. (3)

130. (4)

131. (3)

132. (1)

133. (4)

134. (3)

135. (1)

136. (1)

137.(3)

138. (2)

139. (1)

140. (1)

TYP

E-111

N

J

-t

.

2.3

3.(4)

4.4

o

. (2)

6. (4)

7.2

8.(1)

©

- (4)

10. (3)

11.(1)

12. (2)

13.(1)

TYPE-IV

-

-(M

2.(2

3.4

(4]

-4

6.(1)

7.3)

TYPE-V

| 10|

2.3

TYPE-VI

1.(4)

2.(1)

tions on Distance and Direction

Test.
& No/r\th %
Ny & S’M
¢
West East
LN <&
%(,tll v O\Z/@a’
S¢  South

www.jkchrome.com

| DIRECTION & DISTANCE TEST |}

2.(1)
2 km

3 km 3km

. I|:]Starting
3 km © 5km point
It is clear from the diagram

that Kamu is to the west of her
house.

3.2
2 km

School

N
A

Gz

It is clear from the diagram
Gopal started walking
west from the school.

2km.

1 km

4.(1)

rom the diagram that
towards south.

1km
=

House

Janaki is going towards south.

6.(3) ’_‘_

uo{T

1km

It is clear from the diagram that
Mohan is facing towards North.

7. (4)

Starting
Point
2 miles
1 1 b miles
z—miles 2

It is clear from the diagram that
Suresh is facing towards north.

www.jkchrome.com

8.(2)
4 miles 2 miles
ll mile

3 miles
6 miles

Starting
Point

Now
south.

is facing towards

12 km
C

3 km

e @ »'B
A 10 km

It is clear from the diagram that
Arun is in west direction from the
starting point.

3 km

10. (2)

5 km 5 km

v 4]

Starting Point

It is clear from the diagram that
A is going towards South.

20 feet
11. (2)
Starting 10 feet
Point
9 feet 1
5 feet 6 feet
Y
12 feet

The rat is facing towards north.
12. (2)

30km

20km

20km

b 30km o

Starting Point

Now he is driving towards east.
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13.(3)

10m
5m

[ ]
He is towards north from his

original position
14.(2)

[Scheste—

Home

It is clear from the diagram that
school is in North-West direction
with respect to home.

15. (4)

| DIRECTION & DISTANCE TEST |}

40 feet

199 G2

. 2

Initial
Position

1994 02

in east direction from
point.

20 km

It is clear from the diagram that
Raju is facing towards South-
East.

www.jkchrome.com
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17.(3)

[Tl Ri——{F]
It is clear that T is located to the
West of P.

18. (1)

The house of Roy is in South4Eas
direction with respec e
house of Babu.

10 km

4 i
km

19. (4)

in south direction from
ing point.

S =1 |
Now, he is walking towards North.

21.(1) ,

Na——

Starting
Point

It is clear from the diagram that
Raja is now facing towards south.

22.(4) D A

B E
C is facing towards East.

Startin
23.(4) Point ’
4 km
It is'elear fi the diagram that
he is towards south.
X 3 A
12km |’ K™
£
X
@
(#
9 Km
12 Km

25.

26.

27.

28.

It is clear from the diagram that
the man is towards south from
the starting point.

(1) Inthe morning an object casts
its shadow to the West. In the
evening an object casts its shad-
ow to the east. Therefore, Gol
Gumbaz is to the eastern side of
Bara Kaman.

4 Starting
Point

3km }3'““

8km

3km

It is clear from the diagram that
Ashok was in South direction from
the starting point.

(2) According to question the left
hand would point towards West.

(1) According to question

2 Miles

f—ﬁ\

3 Miles

[,
Starting 5 Miles
Point

It is clear from the diagram that |
was going towards south finally.
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29. (3) If a person stands on his head
with his face towards north, his
left hand will point towards east.

30. (1) Travelling from south means
movement from south to north.

9km

8km

Starting
Point

It is clear from the diagram that it
was facing south.

31.(2)

10km

Staring
point

It is clear from the diagram that
the taxi driver is in the North-West
direction with reference to the
starting point. But there is no such
option. Therefore, we can opt al-
ternative (2), i.e., North as the
answer.

32.(2)

Starting
Point

It is clear from the
finally A was walki

33.

r from the diagram that
heis in South-West direction. But
there is no such option. After
analysing the question carefully
we think that most suitable an-
swer should be option (1)

34.(2)
—
10m
L —
Starting 1™
Point

He is walking towards East.

www.jkchrome.com
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35.(2) _]

—_—

Starting

Point

Now he is walking towards North.
36. (2) Left hand

Back Mouth

Right hand
37.(1) 6lom

3

—

1

Starting

Point

It is clear from the diagram
moving towards east.

4km

38.(3)
Setting Rising
Sun
Temple

House

Temple

us, temple is in east direction
with respect to railway station.
. (3) Required distance = North

10 km
5 km

g & 15 km

40. (1)

-
8
Starting
Polnt
He is now in north direction.
41.(1) f
r—
Starting

Point

Now | am going towards east.

www.jkchrome.com

42. (4)
2 Furlongs

Lakshmi is facin

43. (3) Starti
Poin

44.(1)

B

Ahmed's house is in the East.

45. (2) 4

L8] >
Starting Point

Starting
Point

15m

46. (2)

12m|

%
Now she if facing towards west.

47.(3) B >

2 km

«—
It is clear from the diagram that
he was facing towards west.

48. (3) 4\_}\1 e

AN 3 km

Cd

2km
5km

N

Now Roy is in North-West direc-
tion from the starting point.
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49. (3) 2 km

£

2
km

Starting Point

Now Seeta is facing towards
south.

50. (1) [+} Skm

3km

>V
4km
After turning back he was facing
east.

51.(2)

50m

15m

30m

Starting Point
Now he is heading towards east.

52.(1)

2 km

3 km 5 km

JEREEEREE
E\ ‘

2 km

S 2 km
north.

Now, he is facing towar

- (3)

- 3 Km E]
Starting
Point
£
X 2 Km
o~

3 Km

Ramesh is towards West from the
starting point.
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55.(2) €—=a
1 km

Now, she is moving towards West.

56. (2) Cooeeemnmmmnns

[+ >
Now, Raman moving towards
West.

57.() >
y
Now, A is ing t
58. (3

Now, he is moving towards West.

9.2 B—m>

—

Now, he was going towards south.

60. (1) North

10 km

5 km

10 km

South

Now, he is in north direction.

www.jkchrome.com

61. (3)

1 km

1 km
Now, he is

62.(3) 1

15m

Starting Point

, | am towards north from the
rting point.

3 km

—1]

2 km

3 km

Now, Ravi is walking towards
north.

64.(3) />

€ #]Office
Now he is facing towards east.

65. (3) 5 km

4 km

5km
66. (3)

North
4 km

East

X
< South

4 km
67.(2)
5 km

2 km
N
L}

South
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68. (4)
North
West East
South
Starting Point
69. (1) 25m
40m 50m
e v
Starting Point
70. (2)
\ North NE
5m
25m T West: East
10m sSW
South SE

House

He is facing East.
71. (4)

h-West

30m

20m

73.(3)

[2}———{F]

P is to the south of X.

www.jkchrome.com

www.jkchrome.com
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74. (2)
6 km 4 km
N i
»’f"-
1/‘
® o |e North
// = NW NE
I__' West: East
House
W SE
4 km South
75. (3) College 3 km
2 km
«— Y
North
West t

diagram that
ards West.

West €

Vv
South

Due to an accident, the pointer
showing East, started showing
South. It means, the pole has been
rotated through 90° clockwise. So,
when she was travelling towards
West, actually it was North.

.0
s
4

P is in South-West direction with
respect to Y.

78.(1)

Kate towards North.

1) At dusk, Sun will be in the
stt

North

West East

South

Rohit is moving towards South.
80. (3)

lﬁ@
.v"/
r/..
f”/
"t/
o
/f
' 40 m
Hous.,e'/
[
10 m
25m
North
'S
NW NE
West € > East

sw | SE
South

It is clear from the diagram that
school is in North-East direction
from Ram'’s house.
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81.(4)

School Home
1 km

(9] [e——

3 km 3 km

2 km

The home of boy was in east di-
rection from his school.

82. (4) \

Sarita

Rani

=]

5

Rani is facing towards East and
Sarita is facing towards South.

83. (4)

From the diagram it is clear that
Shankar started his_journey from
North to South.

Read Every Month

RENU GENERAL KNOWLEDGE
& WORLD VISION

(Hindi & English Medium)
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85. (4)

North
NW NE

East

South

457

1]
L

50m
wov

15m

Q East
6.

South

86. (1)

45 k

3 km

It is clear from the diagram that
Tina is facing East.

7.2

North

West East

5 km
South

4 km

It is clear from the diagram that
the man is facing north.

88. (3)
North
West—l—> East
South
(=

Starting Point

It is clear from the diagram that
now Rita is facing North.

www.jkchrome.com

89. (1) In the morning the shadow of
an object forms in the west di-
rection. It means Gangadhar was
facing south.

North

West a

90. (1)
North
West East
£
) South

15 m

It is clear from the diagram that
now she is 15 metre East from
her starting point.

91.(2) North
NW, NE
West East
SwW SE
South

In the morning hour, any object

casts its shadow in the west. It
means, his right side was to-
wards west. So, he was walking
towards south.

92. (1)
10 m
10 m
""""""" <HE]
40 m Starting
point
‘J North
5m
West East
South

Itis clear from the diagram that,
now he is walking towards North.
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93. (2)

iy
4]

20 m

20 m

40 m
w 02

40 m

It is clear from the diagram that,
now | am to the west with respect
to the original position.

. A 10 k B
5 km
D 10 km
AD = 5 km

Direction = South

95. (3)

Itis
in North-West direction of Q.
96. (1)

ar from diagram that S is

6 km
el
.~/
r North
3 km p r NW NE
yd
West East
3 km
SE

South

Now, the man is to the South-
West from his original position.

97. (4)

10 km Starting

1 point
4 km
2 s|
4 km
5 km
¥
6 km

He is in south direction from the
starting point.
98. (1)

House [+.

40 m

East

SE

South

It is clear from the diagram that
Ramdev is now walking towards
North-West.

- @)

SwW

2 km .
1
v
3 km
2 km D

Now, Ramesh is facing South.
(1) Sun rises in the east. There-
fore, Reshma starts walking to-
wards west.

100.

Starting
Point

www.jkchrome.com
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It is clear from the diagram that
Reshma was walking towards
South finally and the exact direc-
tion is south-west with respect
to the starting point. Therefore,

answer.
101. (4)

10 km
&
ing Point

D 2rm E

North
NE

East

SW SE

South

Point G is in North-East direction
with reference to the Point A.

102. (2) North
NW, NE
West East
SW SE
South

At 4 : 30, the minute hand points
towards East. It means the clock
has been rotated through 90°
anticlockwise. Therefore, hour
hand will point towards North-
East.



51 www.jkchrome.com

www.jkchrome.com

103. (4) A
8 km.
—
= 4
2 km.
5 km.
104. (3)
45 m
House of
Sitara's
Uncle

45 m

It is clear from the diagram that
now they are going towards
North-East.

105. ) [ian]_z5,

m

Clearly, the school is to the south
of Mall.
106. (1) 4 km ,
4 2 km est
3 km 3k
L 4
D -
ort
NW NE
W East
SE
South
Raheja is to the east of the start-
ing point.
107. (4)
300 m
100 m
200 m

| started my journey from south.

{ DIRECTION & DISTANCE TEST

108. (1)

Town C is to the south-west of
Town D.
109. (3)

AE 7 km 3

Now Suresh is in the East
tion from the starting poi
110. (2)

Now, she was going towards

North-East.
112. (1)
5km
D 8km E[ [15km
30m A

www.jkchrome.com

Ncalzth
NW NE
West <€ ast
Sw v
Sout
AF = 2 km
Direction
113.(2)
Starti i

West <€

> East

v

South
Starting point is in west direction
from the school.

114. (4)
Final
l_)'<_|_| 80 metre point
1
40
metre
60 metre
80 metre
20
metre
80 metre
North
NW NE
West East
sSwW SE
South

Itis clear from the above diagram
that he is 80 metre towards East
from the point X.

115. (4)

A 10 km.

8 km.
5 km.

3 km.

£€

Starting Point

Required distance = AF
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- J(AG)? + (FG)

- Ja27 + (57
= 144425
= 169 =13 km.

Direction = South-East
116. (4)

B 30m C

30 m
G
AD \F
25m
North D 20m E
NW, NE

West

SW SE
South

NE
lest East
Shalu is (30 + 20) metres@ 5 W SE
L 4

www.jkchrome.com
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= AE = AB + BE
= (100 + 85) el = 185 metres
Entry gate of her house is facing

South.

(2) During the time of sunset,
walking towards the opposite side
of sun means, Shama was

118.

walking towards east.

North
>

West East

—

South

Now, Shama is facing west.

119. (1) Starting Point

metres away in the es South
direction from her origin
o It is clear from the diagram that
position. .
finally P was going towards North.
117. (1)
120. (3) Starting Point
A \
orth 7 km
NE
East
100 7 km
SwW SE
South
60 m
B C North
NW NE
el West< >East
swW SE
South

E 60 m D

Required distance

It is clear from the diagram that
the man is in South-East direction
from the starting point.

121. (3) 1 km
2 km 2 km
Nort
West East
South

, %mesh is facing South.

North
A
West< > East
v
South
( R —
[} >

Now, Raju is facing West.
123.(3)

North
A

West€———> East

v
South

Now, he is facing South.

124. (4)
Startin,
A g
LT_I Point
D 3 km. N
5 km. 8 km.
C*” 3km. B
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127. (4) A
North
NW * NE
5km
West < »East C 3km B
5k
sw | SE m
South
Now, Ashok is to the south of D
starting point. North
125.(1) NW NE
West East
35 km
SW SE
South
Poin D is in South-West directi
of Point A.
128.(2)
arting
Point
West < > East Q
. m.
sw o SE
South 4
126. (3) .
5 km.
o North
NW t NE
20m
______ Final West € >East
Point
15m SE
SW A

North

West< >East

South

Now, Anitha is to the east of the
starting point.

South

Now, Rahul is in south direction
from the starting point.

129.(1)
North
NW 1 NE
West <€ X >East
swo | SE
South

www.jkchrome.com

15 metre|
5 metre
£
10
metre
Starting
15 Point
No s facing north.
130. (1) S

North

West East
South

Q is facing north.
131. (4) According to the question,

North
NW NE
W£ East
("5 SE
\_750uth_}
Now he is going towards South-
West.
132.(1)
North
NE
West East
S SE
South
30 m
20m

Starting point

It is clear from the diagram, fi-
nally he was facing North.
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133. (2
North

NW NE
i_ West East
|

Sw SE
! 4 km South
1

3 km

It is clear from the diagram, now
he is facing North-West.

134.(4)
10 m E

i - North

10m | s
West East
2

45° S SE

South

It is clear from the diagram that
now he is walking towards South-

West.
135.(1)

4

North
W NE
25m West Ea
. S E ¢
10 m

ing Point

ar from the diagram that
Rahul"is in North-West direction
from his starting point.
136.(1)

2 km

4 km

www.jkchrome.com
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North
NW NE
West East
SW SE
South
137. (2)
Lunch 30 km. Breakfast
20 km. 20 km.
Tea 30 km
North
NW NE
West t

10 km.

Final
Point

[+] Starting Point

North
West: East
South
139. (3)
D 20 metre
10 metre
5 metre

www.jkchrome.com

North
West East
Sout:
It is clear fri he@diagram that
now he is o
140.(3)
Final
oint
P 1
[e] \
‘ 5m
16 m 4
8m North
NE
West East
Starting
Point SwW SE
South

141. (2)

South
Clearly, South will move to the
North-East.
142. (3)
C. 5 km.
3 km.
<«
North
West East
South
Now, he is facing west.
143. (3)
15 km.
10 km.
A Final Point
15 km. 20 km.

[-] Starting Point
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North
NW NE
West East
SW SE
South

Now, Rimi is to the north of the
starting point.
144. (2)

Lavi's

House
Ankit's
House

North
NW (N NE
W SE

West %
S

L %
South

Ravi's
House

East

Lavi's house is in Norh-East
rection with respect to %v

house.
North
West: t

145. (3)

30m

5 km
point
J 16 m A 4 fe]Starting
[_T'n_l‘ A Y 8km B X Point
: 5m Required distance = xy- yB = (8-
2> 7) km =1 km
16 m 4. (3)
North
8m NE Final _ 17 km
point ¢
West East i 15km M 15km
Starting s i
; tarting [¢}——>——¢
Point SW SE pointg e

South

147.(2)
D A
C B
North
West East
South

Now he is walking towards North.

( TYPE-I1

the diagram that
km away from the

10m e

fo]Starting

14m Point

Required distance = 10 + 14
= 24 metres
3. (1)

z 7 km 3> A

4km.

5. 3) 4

5km.

4km.

Starting
Point

eql.’ed distance

0+5=15km.
o€ Skm *| Market
3km 3km
2 Booking
House  Skm Office

Required distance = 3 km

7. (1)
Skm
—
. TSkm
é Skm |
Office
The man is 3 km away from his
office.
8. (4)
§ Ew
. <
Murali — Siddarth
~ 3km — 4 km

Required distance = 3 + 4 = 7

km
15 km
9.4 f N

o o
= =
3 3
Starting 15 km

Point

Amitis 5 km away from the start-
ing point
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4 km
10. (1)
6 km 6 km
—Non........
6 km Starting
Point

It is clear from the diagram that
the man is 10 km towards west
from the starting point.

3km B

» i

2km

11. (1)

2km

3km

km

)
[f]1A
Distance between A and B
=5+2=7km

2km
12. (4) [7 E

3km 3km

v o lkm

= >
2km Starting Poifft

Rohan is 1 km away from t
starting point.

13. (2) H

6 km

14. ) A 3km B

N

4k
C
AC = |/(AB)? + (BC)

m
2

3% + (a2

=J9+16 =425 =5 km

www.jkchrome.com
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15. (1)

[a]

8 km

D 6 km %I

Required distance

16. (2)

17.

D10 km©
Required distance

= AD =,/(AE)? + (DE)?

= J/(40)? + (30)°

=,/1600 + 900 = 2500 = 50km
18. (2)

AF North
/ T g o
= a
,/ 80 m South
I/ l

A S
E{'(—GO m—>|E €30 m—>

)
<]
3

O 20m W

D 30 m

Required distance = AF

www.jkchrome.com

19.

21.

22.

&

= (80)* +(60)*

V6400 + 3600 = +10000 =100m

4
C 12 km
£
X
™
B
= V@2 + (a2
4) ‘
E B 5xm A
3 3
km km

D 9 km C

Required distance = (9 + 5) km
=14 km
@)

Required distance

=AB + BE +EF
=(1+2+ 1) km=4km
@

20m

3

10m
30m

10m

<

23.

5
rd

y
1700m
Friend covers a total distance of
=(30+10+20+10) =70 m
Distance between them
=70-50=20m

.............. m Starting
@ 4 Point
€
X 8 km
[

4 kKm

Sudha is 4 km away from the
starting point.
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24. (2)
>
4 km
Starting
5 km Point

Required distance
=(5+4)=9km
25. (2

AH =20 - (4 + 6) = 10m

26. (4) B 3km €
5 1
K km
E D
A

Required distance

AD = (AE)? + (DE)?
(@) +(372

¢

=416+9=425=5 O
27. (1)
S5km —_
< 5
£ £
X X
o
A 5k : " 5k B
5 20kme o
Required distance
=5+5=10 km
_ 5K
28. 2) €=
5 Km
5 Km
2 Km

She will have to traval 7 km to
reach her home.

www.jkchrome.com
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29. (3) Skm

2km

4km
okm 3km

Starting
Point

Clearly A is 2 kms away from the
starting point.

30. (3)
13 km
“9km- 4 km
4 km| M _ Starting
15 km — Point

It is clear from the digram that
Sujitis 11 km away from the

ing point.

31. (2

2 L 4km
3km 3km
Starting & -
Point - 4km -

It is clear from the diagram that
Gopi is 3km away from the start-

ing point.

33. () g

20 km

wyoL
10km

Plan

Khan

Office 10km

10km

It is clear from the diagram that
they are at a distance of 20 km.

34. (3) Required distance

= AD= /(AE)? + (DE)?
= J(30)? + (40)*

= 4900 + 1600
=+/2500 = 50m

35. (1) Mysore is to the south of
Bangalore.

7+ 5= 12km

Ram —, Shyam
7km —  5km
Clearly, they are 12 km apart.
@) R

£
X

37.

4 km P
Required distance = PR

= J(PQ)® +(QR)

V4P +(3)? -i6+8 - 5 km

38. (3) 3

4km

Skm

4km

10 km

Required distance
= (10+5) km = 15 Km

39. (3) 6 kms

n
E 4 kms
-+

& r
~ 6 kms ‘j
Gandhi square

Required distance = 4 km
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40. (1)

Required distance

= AF = BF- AB

=15-7 =8 km
41. (1) 4km

<

6km

=
& 4km
Required distance = 6 km.

42. (1) 2km

4km

Office

2km

2km

Now, he is at the starting point.
43. (4)

15 km

10
Km

Required distaRee =
44. (2

€
X
o~
Starting Point
Required distance = 2 km.
45. (1)
De 15 km C
i‘ A
15 km
Starting
Point |e@ B
A 15 km

Required distance = AD = 15 km

| DIRECTION & DISTANCE TEST |}

46. (2) Fs B
3km 3km
9km
Required distance
= 8 km + 9 km
= 17km
47. (3)
IE 8 km
,}1 km
X <
™
@ 8 km

Required distance = 1 kmg

0
AD = (20 + 30 + 20)m = 70m

7 feet
E 5 feet
Bl== {C
1feet  8feet
Required distance = 1 feet
51. (3)
[Dle—B]

20m. 30m. 20 m.
AB=(20+30+20 +20) m
= 90 metres

52. (4)

20m
—

P Q
Required distance
=PT=PQ+ QT
=(20 + 25)m =45 m

53. (3)
10 k
< i A
E D
8 km km

Required d

= AE = AL

=5
54. (2

56.

57.

55.

B 10km €

Required distance = AD = BC
=10 km

(@) E
100m
D Z00m ¢
400m
S —Zoom B
Required distance AE
=AD + DE
= (400 + 100) metres
= 500 metres
@) 4 km

30 km

She has to cover 4 km.
Now he is facing towards east.

()
4 km

6 km 6 km

Bl Starting Point

Required distance = 4 km



59 www.jkchrome.com

www.jkchrome.com

58. (3)

North

West East

4 km

3 km
South
8 km

[ Starting Point

Required distance = (8 + 4) km
=12 km

3 km
59. 3) C A

4 km

20 km
EN 40km D Noth
10 km
A
g West East
South

61. (1)

Starting Point

A B
EN

w

West
iseg

| DIRECTION & DISTANCE TEST |}

wQoL @

EF + AF = (10 + 10)

m=20m

63. (2) North

East

West

South

John'
House
B P

E 200m A

John's
Uncle's
Office

Uncle's
House

Required distance
= (200 + 100) metres
= 300 metres

B M A,

Kabir's
House

Kabir's
Office

www.jkchrome.com

64. (1) D 25m E

S
>

5m

C 25m
m
ouse
Required
= 18 . metr

i 0
65. (2)

=(10'+5)
Sy 4 km
A
3 km

5km B Starting Point
Required distance
=(5+4) km
=9 km
66. (2)
/€
A £
{ ¥  North
B S Sl Y
£ IWes East
X |
< 1
g | South
AB e JE

Required distance

AD = |(DE)? + (AE)?
= V82 +(6)? = J64+36

= ,100 = 10 km
67. (1)
10m 7m
Ram Sam
20m
25m 25m
Ram Sam
tH

Required distance
= (10 + 7) metres = 17 metres
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68. (4)

Starting Point

fa]

15km

N

10km
10km

6 km

Required distance
=(15 + 6) km
=21 km

69. (4)

, 20 km N

10 km 10 km

Belah — Shiela
10km — 10 km

Required distance
=10 + 10 = 20 km

70. 3) 4

| DIRECTION & DISTANCE TEST |}

-4+3+4+5 =16m

71..(1)
£
uE7 o North
- 20m |7 NW NE
West East
(] SwW SE
Starting Point South

Required distance = 15 - 10
=5m

www.jkchrome.com
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72. (2)
P 10 km
< n
—
10 km 2
3
A
5 km
Required distance
=(10 + 5) km = 15 km
73. (4)
> 12 m
N
| o)
!
D 12 m
Office ant
Required distanc s
74. (1)
6 K
6 km
m
m North
West East
South

Required distance = 4 km
75. (4)

B North
—
B
15m é @
A South E
Starting[ 4
Point
5m 5m
C D
10m

Required distance = AE = 10m
Rachel is 10 metres towards East

from the starting point.

76. (1) 2 km
£ w
X =
™ 3
A 4
Required =3 km
77. (2)
m
3 km
‘ 4 km
y
1 km
Nc:':th 1 km
NwW NE
West € > East
sw | SE
South

He is 5km away from the start-
ing point.
78. (2

North
West

East

30m South

Starting
Point

Required distance
= 30m + 20m = 50m

79. (4)

c 4km

N

D

4 km
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Required distance

=AD = ‘/(AE)Z +(DE)?

= V(82 + (6)?
= JG4+36 =J100

=10 km

80. (4) 9 nautical

A .
miles B
12
nautical
miles

C

Required distance

= AC = {(AB)? + (BC)?

= Jo)2 + (122
= J/81+144
=225

=15 nautical miles
81. (3)

| DIRECTION & DISTANCE TEST |}

83. (3)

Starting
point
A
10 m
C 10m B 15m
5m
4
D 15 m E

Required distance = AF
= 5 metres

www.jkchrome.com

www.jkchrome.com

Starting
Point

Ayl
20 m

20m North

1seg

South

70 m
—

C20m B

Required distance = AE
= 20 metre

. (2

etres
10 km
g &
E oF A
10 km
10 km
C ¥B
5 km
Required distance
= AE = AD + DE
=(5 + 10) km
=15 km
86. (3)
--AE
6 km
Star.tingEL) ................. F
point A o km B 12 km
6 km
LV

88.

Required distance = AD
=10 km

@

D 20km
P \C
.x.f'f/ 20 km
F—=
A 40 km
North
West East
South

Required distance = AD

= J(AE)? + (DE)?

= V(20)? + (20)?

= /400 + 400

= JBOO = 28.28 km
~ 30 km

East
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| DIRECTION & DISTANCE TEST |}

89. (1) 92. (3) 96. (2)
E B 4 km
O North
A
3 km 3 km NW
5 km A
. West st
E North
| 4 km S SE
E West East
1 vYE
G F
€«—— 25 km —> South A
Required distance = AG EC=EB +BC = (5 + 4) km
=2.5km + 4 km 03 (=3)9km 12m 15 m
=6.5 km :
90. (4)
. e B
Library [J Lk i
i K Required distance
AC = |/(AB)? - (BC)?
B Laboratory
. 2 2
Aol = V(15" -(12)% = 225 -144
Friend's
North House = ‘[a = 9 metre
NW, NE ¢
West East 97. (4 North
SW W 1 NE
So ‘ AQ Classroom
West East
Required dist AF = AB + BF
- 2 km = (24 + 15) ft SW P SE
91. (4) =39 ft South
94. (3) Dinesh covered in 15 minutes
15
- 60x— _ C
= X 60 = 15 km .
km | gaeta | 6 kKM Ramesh covered in 15 minutes | 3 ., .\'\..,,_\
3 km A 3k 44 E “‘\,....\
A 2 n'; B = X =11 km n -
Geeta 60 B - ‘;] School
: Dinesh and Ramesh will be (15
6km i + 11) km = 26 km away from Required distance
H each other after 15 minutes. _ B 2 2
‘:C 95. (2) The insect covers 15 - 2.5 = AC = J(AB)" +(BC)
- = 12.5 cm in one minute.
9 km [
So, it will cover 1 metre (= 100 = (4)2 + (3)2 = 4J16+9
Required dist =BC 100 _ -
=e:::1r1 istance cm) in 125 = 8 minutes = 425 =5km.
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98. (4)

10 km C

5 km

<

Required distance
AE =

(AD)? + (DE)?

= J10)2 +(5)2
= \/1 00+ 25

= 125 km
99. (3)
2 km

4 km
4 km

NE
East

SwW SE
South
Sunita rode 4 km N

100. (4)

10 km

point
101. (3)
House
B 15km A |
20 km §
é 10 km
:r—H'
C 25 km

5 km

www.jkchrome.c

om

| DIRECTION & DISTANCE TEST |}
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¢

ds. ‘

102. (1)
5 km 3 km
Veena Veeru
10 km
15 15
km km
y N

Required distance = (5 + 3)

=8 km.
103. (3)
c 5 km
5 km
|
\ B
25 km
(1A
North
N
West ¢ >East
v
South

Required distance AD
= (25 + 5) km = 30 km

104. (4)
D F 5km. E
1 ' 7
1 km. E 3 km. /’
7/
C 7’
2 km. B //
3 km.,/
4

’
7
7
’
’

West

North

East

9 km.

DY

9 km.

AD =5 km.

106. (3)

B10 km

A E

20 km

L

Cc
A

West

107.(2)

25 km

E =15 km
North

East

South

B 10km A

10 km

\Starting Point

10 km

C 10 km

D
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108. (2)
B 20m A
Starting Point

20 m 20 m

D 20 m C

North
NW NE
West East
S SE
South
AE = AB + BE
= (20 + 20) metres
= 40 metres
109. (%)
E 120 m
Fi
60 m H

20 m
A80m B e
NW NE
W East
SE
South

AF = ‘/(FG)Z +(AG)?
J(80)2 +(300

= 46400 + 90000
= 496400

= 310.48 ~ 300 metres

www.jkchrome.com

| DIRECTION & DISTANCE TEST |}

110. (1)
A 3 km B
[ﬂ4 km
C
North
NW NE
West East
SE
South

Required distance =

= V@3’ +

&

B
4 km
y
E C
6 km
(AE)? + (DE)?
= J(4)? +(3)?
- /16+9 = y25 =5 km.
112. (2)
s 5km. R

5 km.

Q 3km. P

www.jkchrome.com

North

30m

20m

NE

West <€ > East

SW SE
South

AE = (30 + 20) metres

= 50 metres

114. (3)

5 km.

10 km.
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| DIRECTION & DISTANCE TEST |}

NW 4 NE

> East

West €

SW ¥ SE
South

Required distance
= AE = AB + BE
= (10 + 5) km. = 15 km.

115. (2)

5 metre C

10 metre

5 metre B
North

Required distance
=LM=LA+A
= (10 + 10) meétre

= 20 metr
116. (2)

2 km

]

15 km

5 km

7 km

7 km

www.jkchrome.com
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117. ()

5 km

7 km- |12 km

7 km

15 km

North

NW, NE

East

West

Clearly, the hori
= (7 +15) kn-
118. (1)

25m

22 km

>B

E  75m

North

N

> East

West €

Vv
South
AE = (75 - 40) metres
= 35 metres

119. (4) 10 km ~

0o

O 12km

> 12 km
[

Starting
Point

North

NW

West€

SW
Requi
= 10/km
120. (1) C_ Seeta BRam_D
4 5km [3km
10 km
: §
2 0
v —
E" F
Required distance EF
=(5+3) km
=8 km
121. (4)
Starting
AD Point
r 9 km
:.. Bl 3 km C
!-"! 5 km ™
< D
E F
8 Km

Required distance
E = /(AF)? + (EF)?
= J12% +(5)°

= 144 + 25
= /169 =13 km
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| DIRECTION & DISTANCE TEST |}

122. (2
5Kkm North
DB ) 4
20km 20km West < > East
v
South
25km
Required distance Required distance
AB = 20 km _ _ 2 2
123. (1) = AE = y(AD)" +(DE)
North = J(6)2+(8)% = J36+64
D 10 km C
S eh 126. (3)
£ 4 kKm
xF 5l B 5 metr
© f B 10km A
4 km
£ 2 2
=
5 5]
Required distance g
- AF = AB + BF 8
= (10 + 10) km. = 20 km.
2.0 1 QL 4o
D 2 km. ’
1 km NO'I:th
L 4
A E 3 km.
AE = 1 km.
m West< > East
NW NE
v
South
We > East Required distance = AD
= 5 metres
127. (4) Distance between them after
3 hours =3 (5 +4) km.
SW v SE =3x9km. =27 km.
South 128. (4)
125.09 Sham's Friend's
20 feet B] House 10 K House
A L >[]8
6 feet 2 km
E Bfeet D 20 feet C D 10 km ¢
DA =2 km

129. (3)

>East

West<€

SwW

SE

v
South

Required distance = AE
= (30 + 20) metres
= 50 metres

130. (4)

10 km

y falA

m4

10 km 10 km

North

East 5 km

South

Required distance
= AE = AD + DE
=(5+ 10) km
=15 km
131. (3)
North

100m. g

West East

200 m.

South

E 400 m.

200 m.

I_ﬂ House

AE = 200 metres
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| DIRECTION & DISTANCE TEST |}

132. (1) T
Prabhu's
House
e E 20 km. 3] Friend's West East
House
15 km. 15 km.
South
i Park 135. (1)
D 18 km.
E 25 metre D
Norer 5 metre
§ B 20 metre c
E
West East &
20 metre
South
AE = 2 km.. ’ :
133. (4) oo
136. (1)
C 2 km. B E
3 km. 3 km.
] >E
D A
Starting
Point ‘
North
L 4
West t West East
South
1
A AE = (3+—J km. = 3.5 km.
1 2
137.(3)
A s5km. B E
X S L £ 10m D
5m
10
8 km. 8 km. "1 B 1om ¢
North
FaA West East
C ey D } 5m
AE = (5 + 5) km = 10 km. A [#] Starting Point South
AF = 5 metre

138. (2)
9 9 km. B
6 km.
L 6
D 3km. E 4
Qorth
N NE
4
lest East
SW SE
South
AE = AD - DE
=(9-3) km. =6 km.
139. (1)
I.li—l 8 km ,_E_‘
i 4 km {
g—\
4 km 12 km
8 km North
Vv  West East
[Dj«—C]
4 km South
AF = 4 km
140. (1)
6 km
D ‘C
3 km
-
%} 6 km B
North
West East
South
AD = 3 km
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TYPE-III ]

1.(2)

It is clear from the diagram that
minute hand will be in west di-
rection.

2.(3) At 6.20 the minute hand
points towards South-East. It
means the clock has been rotated
through 90° anticlockwise and
hence it points North-East. Thus,
the hour hand will point towards
East.

3.4 \nl;ila] poistion

Net movement of Ram
=(180° + 90°) - 90°

= 180° anticlockwise
Therefore, Ram would face South-
east direction, the opposite of
North-west.

2
4.(4) < Initial Position
L 4
a jon
Ne ent 45° anticlockwise
5.2) D 5km C
8 km

E 3kmA 2km B

The distance between A and E =
3km

6. (4)

4 Feet

i,
Required distance
=(4 +3 +1) Feet = 8 Feet

7.(2)

Raju would in North-East
tion from the original positi

8. (1) 2km A

2 km

Karan is in South-West region with
respect to his starting point.

10. 3) A—>
E N N
D B
S W
® C
P I A
>
11. (1)

L]
100m Friend's
House

12.

13.

friend.

North
4
NW\[\ NE
West <€ > East
Sw J, SE
South

It is clear from the diagram that
now the man is facing South-West

direction.

(1)
[e}
1 km
North
NW 0N NE
West € > East
SW ¥ SE
South
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TYPE-IV

\5‘§

{a[ Skm [E]

1. (1) Required distance
=30+25+ 15 =70 km

2. (2) Checkpost B is the farthest to
the South-West of D.

(3-4) :

30m

20m

15m 15m

15 m

3. (4) Kiran is 30m away fro‘t
starting point.
4. (2) Kiran is facing towards Wes

(5-6):

starting point.

7. 3)
D North

A C West (% East
5 South

A is facing East.

8. (1)
5 km
North
NW, NE
West East
SW SE
South

Starting point is to t
the finishing poin

made by X. can

TYPE-VI

All are facing outwards.
A is facing North-East.

. (1) H will move to the position of
B and B is facing North-East.

. (1) The new arrangement of A, B,
C,D,E, F, Gand H:

E is facing North-East.
H is facing South
A is Facing South-West.

4. (2
D}« X™>A¢Z KD Cle x>
CB =6 km
5. (2

North

A
S T
West ¢ >East
L

South

It is clear from the diagram that
D is located in the South-East

direction of C.

6. (1) G(©
F H
E A
D B(F)
C
©
North
West East
South

Now, A is sitting to the right of F.
000
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